


Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

Ans

Cell Structure and Function

. Firstsuccessful tissue culture was of

a. Tomato root b. Carrotroot

c. Potato stem d. Tobacco callus

(a) Tomato root

. Tissue-used by Steward et al (1957) to prove

cellular totipotency was

a. Pith of root
c. Phloem of root

b. Pith of stem
d. Phloem of stem

(c) Phloem of root
. White performed successful tissue culture in
a. 1939 b. 1932
c. 1929 d. 1922
(b) 1932

. The smallest animal egg is of

a. Ostrich b. Human female
¢. Duck d. Hen
(b) Human female
. Largestanimal cell is of
a. Ostrich b. Duck
c¢. Human d. Hen

(a) Ostrich

. Human egg is larger than human sperm because it

has

b. More membranes
d. All of the above

a. Larger nucleus

c. More cytoplasm

(c) More cytoplasm

. Larger sized organisms usually have

a. Large sized cells

b. More noncellular material
c. Higher number of cells

d. More cellular excretions

. () Higher number of cells

Ans.

Ans.

10.

Ans.

11.

Ans.

12.

Ans.

13.

Ans

. Large cells have

a. High metabolic rate

b. High respiration rate

¢. Low surface: volume ratio
d. High surface: volume ratio

(c) Low surface: volume ratio

. Metabolically activity cells have

a. Lower nucleocytoplasmic ratio
b. Higher nucleocytoplasmic ratio

c. Higher surface: volume ratio
d. Bothbandc

(d) Bothbandc

Alga Acetabularia is

a. Unicellular prokaryote
b. Multicellular prokaryote
c. Unicellular eukaryote

d. Multicellular eukaryote

(c) Unicellular eukaryote

Size of Acetabularia is

a. 10ecm b. 10 mm
c. 1.0mm d. 0.1 mm
(@) 10cm

Largest cell of the human body is

a. Voluntary muscle fibre cell
b. Nerve cell

c. Striated muscle fibre cell

d. Cardiac muscle fibre cell

(b) Nerve cell

Average size of human body cells is
a. 5-10 pm

b. 10-15 pm

c. 20-30 pm

d. 70-80 pm

.(0) 20-30 pm
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14.

Ans.

15.

Ans.

16.

Ans.

17.

Ans.

18.

Ans.

19.

Ans.

20.

Ans.

21l

Ans.

22,

Ans

Large plant cells are

a. Xylem vessel cells
c. Sieve tube cells

b. Parenchyma cells
d. Sclerenchyma fibres

(d) Sclerenchyma fibres

Jute fibres have a length of

a. 30-40 mm b. 300-400 mm

c. 30-90 cm d. 3-9m

(c) 30-90 cm

Human egg has a volume larger than human
sperm by time

a. 100,000 b. 10,000

c. 1000 d. 100

(a) 100,000

Efficient large sized cells should be
a. Elongated

b. Branched

c. With membrane extensions

d. Any of the above

(d) Any of the above

The term protoplasm was coined by

a. Corti b. Dujardin
c. Purkinje d. Dutrochet
(c) Purkinje

Purkinje coined the term protoplasm in
a. 1739 b. 1839

c. 1779 d. 1879

(b) 1839

A cilium beats

a. Asymmetrically by sweeping action
b. Symmetrically by sweeping action

¢. Symmetrically by undulatory action
d. Asymmetrically by undulatory action

(a) Asymmetrically by sweeping action

Cell theory was put forward by

a. Schleiden and Schwann b. Sutton and Boveri
c. Watson and Crick d. Darwin and Wallace

(a) Schleiden and Schwann

The term cell was coined by or the cell was first
seen by

a. Robert hooke b. Leeuwenhoek
c. Schleiden and Schwann d. Altmann and Kolliker

. (a) Robert hooke

23.

Ans

24.

Ans.

23,

Ans.

26.

Ans.

27.

Ans.

28.

Ans.

28,

Ans.

Figures of cork cells observed by Robert Hooke
were published in

a. Genera plantarum
c. Origin of species

b. Species plantarum
d. Micrographia
(d) Micrographia

The cells discovered in thin sections of cork by
Robert hooke were actually

b. Cellulose

d. Nuclei

a. Cell walls
c. Protoplasm

(a) Cell walls

Nucleus was discovered by

b. Leeuwenhoek
d. Schleidenand Schwann

a. Robert Brown
c. RobertHooke

(@) RobertBrown

Smaller cell is

a. Less active metabolically
b. With smaller nucleus

c. With larger nucleus

d. More active metabolically

(d) More active metabolically

Credit for establishing nucleus as biological entity
goes to

b. Schwann
d. Robert Brown

a. Leeuwen Hoek
c. Koch

(d) Robert Brown

Names of Schleiden and Schwann are associated
with

a. Protoplasm as the physical basis of life

b. Cell theory

c. Theory of cell lineage

d. Nucleus functions as control centre of cell

(b) Celltheory

Which is correct about cell theory in view of current
status of our knowledge about cell structure

a. It needs modification due to discovery of
subcellular structures like chloroplasts and
mitochondria

b. Modified cell theory means that all living beings
are composed of cells capable of reproducing

c. Cell theory does not hold good because all living
beings (e.g, viruse) donothave cellular organization

d. Cell theory means that all living objects consist of
cells whether or not capable of reproducing

(c) Cell theory does not hold good because all living
beings (e.g. viruse) donothave cellularorganization



30.

Ans

31.

Ans.

&

Ans.

33.

Ans.

34.

Ans.

35.

Ans.

36.

Ans.

B

Ans.

38.

Minimum cell size seen underlight microscopeis
a. lpm b. 0.1 ym
c. 0.25pm d. 0.5um

.(c) 0.25pm

An exception to cell theory is
a. Mycoplasma b. Virus
c. Protistans d. Algae

(b) Virus

Cellular totipotency means

a. Synthesis of new cells

b. Formation of new species

c. Formation of new plants

d. Capability of a plant cell to form complete plant

Who proposed cell lineage/cell always arises from
pre-existing cell?

a. Lamarck b. Virchow

c. Schwann d. Darwin

(b) Virchow

The suffix sin ribosome unit indicates

a. Sedimentation coefficient
b. Solubility

c. Surface area

d. Size

(a) Sedimentation coefficient

Letter S in the structural unit of ribosome denotes

a. Concentration unit
c. Polymerization unit

(b) Svedberg unit

b. Svedberg unit
d. Stability unit

Who proposed that cell is a unit of life and that a
tissue is made of cells?

a. Schleiden
c. Dutrochet

(b) Schwann

b. Schwann
d. Steward

Longest cells in human body are
a. Nerve cells b. Bone cells
c. Leg muscle cells d. Heart muscle cells

(a) Nerve cells

A plant cell has potential to develop into full
plant. The property is called

a. Tissue culture
b. Pleuripotency

(d) Capability of a plant cell to form complete plant

Ans.

898

Ans.

40.

Ans.

41.

Ans.
42.

Ans.

43.

Ans.

44.

Ans.

45.

Ans.

46.
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c. Totipotency
d. Gene cloning

(c) Totipotency

Protoplasm forms percentage of total weight of the
body

a. 45% b. 70%
c. 95% d. 15%
(c) 95%

According to cell theory

a. Cellsare fundamental structural units of organisms
b. Cells reproduce

c. Cells areliving

d. Cells have nuclei

(a) Cellsare fundamental structural units of organisms

Protoplasm is

a. Emulsion

b. Complex colloidal solution
¢. Molecular solution

d. Suspension

(b) Complex colloidal solution
The term sarcode was used for living substance of
cell by

a. Hooke
c. Purkinje

(b) Dujardin

b. Dujardin
d. Brown

Protoplasm is

a. Nonliving matter

b. Bearer of hereditary characters
c. Living matter without function
d. Physical basis of life

(d) Physical basis of life

The ability of a cell to form the whole organism is

a. Regeneration
c. Totipotency

b. Cloning
d. Development

(c) Totipotency

Schleiden and Schwann proposed cell theory in

a. 1836-37 b. 1838-39
c. 1901-02 d. 1938-39
(b) 1838-39

An individual has a number of different types of
cells was first stated by

a. Dujardin
b. Robert brown
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c. Dutrochet
d. Schleiden and Schwann

54. Hydroplasm of vacuole possesses

a. Water b. Minerals
Ans. (¢) Dutrochet c. Water and mineral d. Air
47. Callus s Ans. () Water and mineral
a. Material used in healing in phloem 55. A vacuole without a regular covering membrane is
b. Secondary tissue developed by woody plants a. Contractile vacuole b. Food vacuole
c. Anundifferentiated mass of cells c. Sap vacuole d. Gas vacuole
d. All of the above Ans. (d) Gas vacuole
Ans. () An undifferentiated mass of cells
56. Which one possesses only a protein membrane
48. Which one is enucleated a. Feeding canals of contractile vacuole
a. Squamous epithelial cells b. Vesicles of a gas vacuole
b. Mature leucocyte of man c. Contractile vacuole
c. Mature erythrocyte of frog d. Gas vacuole
d. Mature erythrocyte of man Ans. (b) Vesicles of a gas vacuole
Ans. (d) Mature erythrocyte of man .
57. Gas vacuoles occur in
49. One of the following is anucleate a. Prokaryotes b. Protistans
a. Sieve tube c. Bothaandb d. Fishes
b. Companion cell Ans. (a) Prokaryotes
c. Medullary ray
d. All of the above 58. Gas vacuole takes partin
Ans. (2) Sieve tube a. Storage of metabolic gases
b. Protection from intense radiations
50. A cell can form many phenotypes. The property is c. Buoyancyregulation
called d. All the above
a. Pleuripotency b. Totipotency Ans. (d) All the above
c. Parasexuality d. Parthenogenesis
Ans. (a) Pleuripotency 59. Food vacuole is formed from
a. Absorbed and digested food
51. A flagellum beats b. Phagosome + Lysosome
a. Independently, undulatory and asymmetrically c. Feeding canals + Lysosome
b. Independently, undulatory and symmetrically d. Feeding canals + Phagosome
c. Coordinated, pendular and symmetric Ans. (b) Phagosome + Lysosome
d. Coordinated, pendular and asymmetric
Ans. (b) Independently, undulatory and symmetrically 60. Vacuoles are
a. Cytoplasmic organelles
52. The coordinated beating of cilia is b. Non-cytoplasmic organelles
a. Undulatory c. Non-cytoplasmicsacs
b. Metachronous d. Cytoplasmic sacs
¢. Metachronous and isochronous .
Ans.(c) Non-cytoplasmicsacs
d. Bothaandb
Ans. (¢) Metachronous and isochronous 61. Contractile vacuoles take partin
a. Storage of wastes
53. A typical vacuole possesses b. Osmoregulation
a. Nucleoplasm b. Cytoplasm c. Excretion
c. Hydroplasm d. Bothbandc d. Bothband ¢
Ans. () Hydroplasm Ans. (d) Bothband ¢



62.

Ans.

63.

Ans.

64.

Ans.

65.

Ans.

66.

Ans.

67.

Ans.

68.

Ans.

69.

Ans.

70.

Ans

Filling of contractile vacuole and its swelling is
called

a. Diastole
c. Systole

(a) Diastole

b. Diapauses
d. Bothaand b

Bursting of contractile vacuole to throw its contents is

a. Ephagy b. Systole
c. Diapause d. Dehydration

(b) Systole

Number of sap vacuoles present in an animal cell is

a. One and large
¢. Many and small

b. Many and large
d. None of the above

(c) Many and small

Young plant cells possess sap vacuoles
a. One, large and central

b. Many, large and dispersed

¢. Many, small and dispersed

d. None of the above

(c) Many, small and dispersed

A single large central vacuole occurs in
a. Mature animal cells

b. Mature plant cells

c. Developing animal cells

d. Developing plants cells

(b) Mature plant cells

Liquid content of a vacuole is called
a. Cell sap b. Matrix
c. Nucleoid d. Core

(a) Cell sap

Protoplasm present inside the nucleus is called

a. Hyaloplasm b. Nucleoplasm
c. Nuclear matrix d. Hydroplasm

(b) Nucleoplasm

Nucleus was discovered by Robert Brown in

b. Bean root cells
d. Wheat stem cells

a. Orchid root cells
c. Maize stem cells

(a) Orchid root cells

A well organized nucleus is present in
a. Bacteria b. Prokaryotes
c. Blue green algae

. (d) Eukaryotes

d. Eukaryotes

71.

Ans

72.

Ans

73.

Ans

74.

Ans

75.

Ans

76.

Ans

77.
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A plant (cell) having more than two nuclei is
known as

a. Syncytial

c. Polynucleate

b. Coenocyte
d. Plasmodium

. (b) Coenocyte

An animal cell with numerous nuclei is called

a. Coenocyte
c. Plasmodium

. (b) Syncytial

b. Syncytial
d. Bothaandb

Nuclear envelope is composed of

a. Single membrane

b. Two membranes

c. Proteinaceous strand
d. Bothaand ¢

. (b) Two membranes

A biological membrane containing true pores is

a. Nuclear envelope
b. Plasma membrane
c. Vitelline membrane
d. Plastid envelope

. (@) Nuclear envelope

Karyotheca is derived from

b. ER
d. Bothaandb

a. Envelop remains
c. Golgiapparatus

.(d) Bothaandb
Perinuclear space has a width of
a. 100-150 A b. 100-300 A
c. 400-700 A d. 100-150 nm
. (b) 100-300 A
Diameter of the nuclear pores is
a. 50-150 A b. 100-200 A
c. 300-500 A d. 800-1500 A

Ans.(d) 800-1500 A

78.

Ans

79.

Ans

Nucleoplasm is also called

a. Nuclear sap
c. Bothaandb

.(c) Bothaandb

b. Karyolymph
d. Nuclear matrix

Nucleus controls cytoplasmic functioning by
sending out

b. Protein
d. DNA copies

a. Cholesterol
c. RNAs

.(c) RNAs
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80. In non-dividing cell, most of DNA islocated in

a. Mitochondria b. Chloroplasts
c. Chromosomes d. Chromatin material

Ans.(d) Chromatin material

81. Chromatin material which remains condensed
during interphase is called

a. Heterochromatin b. Euchromatin
c. Chromonemata d. Megachromatin

Ans. (a) Heterochromatin

82. Heterochromatin is genetically and metabolically

a. Very active

b. Inert

c. Very active genetically
d. Inert metabolically

Ans. (b) Inert

83. Nucleolus is a

a. Distinct membrane bound organelle
b. Part of chromosome

c. Ribonucleoprotein entity

d. DNA component

Ans. (c) Ribonucleoprotein entity

84. Nucleolus was discovered by

a. Robert brown b. Leeuwenhoek
c. Roberthooke d. Fontana

Ans. (d) Fontana

85. Size of nucleolus is large where

a. Protein synthesis is active
b. Protein synthesis is small
c¢. No protein synthesis occurs
d. Lipid metabolism is rapid

Ans. (a) Protein synthesis is active

86. Nucleolus contains

a. Genetic instructions

b. Ribosome assembly line

c. Protein synthesis machinery

d. Enzymes for polysaccharide formation

Ans. (b) Ribosome assembly line

87. Organelle having a significant role in mitosis is

a. Lysosomes
b. Mitochondria
c. Golgibodies
d. Nucleolus

Ans. (c) Golgibodies

88.

Ans.

89.

Ans.

90.

Ans.

91.

Ans.

928

Ans.

93.

Ans.

94.

Ans

Granules of nucleolus are precursors of

a. Chromosomes b. Ribosomes
c. RNA d. All the above

(b) Ribosomes

Nucleolus is formed from
a. Nucleus

b. Nuclear sap

c. Sat chromosome

d. Giant chromosome

(c) Satchromosome

Temporary inactivation of one chromosome of a
pairis

a. Facultative heterochromatin

b. Constitutive heterochromatin

c. Inactivated chromatin

d. None of the above

(a) Facultative heterochromatin

Barr body is

a. Nucleolus

b. Facultative heterochromatin
c. Constitutive heterochromatin
d. Euchromatin

(b) Facultative heterochromatin

Components of nucleus are

a. Karyotheca, nucleolus, chromatin, nucleoplasm
and nuclear matrix

b. Nuclear envelope, nucleolus, chromatin and
nucleoplasm

¢. Nuclear envelop, nucleoplasm asn chromatin

d. All the above

(a) Karyotheca, nucleolus, chromatin, nucleoplasm
and nuclear matrix

Nuclear matrix is

a. Heterochromatin complex
b. Crystallo-colloidal complex
c. Fibrous complex

d. Nucleoplasm

(c) Fibrous complex

Nuclear matrix is formed of

a. Histones

b. Neutral proteins
c. Acid proteins
d. Nucleosomes

.(c) Acid proteins



95. Dense fibrous complex lying adjacent to inner
membrane of nuclear envelope is

a. Chromatin b. Fibrous lamina
c. Nuclear lamina d. Bothband ¢

Ans. (d) Bothbandc

96. Structural element of chromatin is

a. Histone

b. Acid protein and DNA
¢. Nucleosomes

d. Nuclear matrix

Ans. (d) Nuclear matrix

97. Largest organelle of the cell is

a. Nucleus b. Chloroplast
c. Mitochondrion d. Vacuole

Ans. (a) Nucleus

98. The term chromatin was coined by

a. Heitz b. Flemming
c. Fontana d. Bowman

Ans. (b) Flemming

99. The term nucleoplasm was given by
a. Strasburger b. Flemming
c. Harris and James d. Bowman

Ans. (a) Strasburger

100. Nucleolus contains

a. Nomembrane covering

b. Amorphous matrix and granular zone
c. Fibrillar zone and chromatin

d. All the above

Ans.(d) Alltheabove

101. Living beings are made up of cells. This was first
stated by
a. Lamarck
b. Von Helmont
c. Schleiden and Schwann
d. Hugo de Vries

Ans.(c) Schleiden and Schwann

102. In tissue culture embryoids are formed from
pollen grains due to
a. Testtube culture
b. Double fertilization
c. Cellular totipotency
d. Organogenesis

Ans. (c) Cellular totipotency

Cell Structure and Function 9

103. Cellular totipotency is demonstrated by

a. Only gymnosperm cells
b. All plant cells

c. All eukaryotic cells

d. Only bacterial cells

Ans. (b) All plant cells

104. Fertilization of an egg with sperm was discovered by

a. Hertwig b. Flemming
c. Waldeyer d. Malpighi

Ans. (a) Hertwig

105. The volume of which of the following is given in
right sequence

a. Ostrich egg > Hen egg > Human egg > Smallest
virus

b. Human egg > Ostrich > Smallest bacteria

c. Bacteria > Virus > Human sperm

d. Virus > Bacteria > Human sperm > Human egg

Ans. (a) Ostrichegg>Henegg>Humanegg>Smallestvirus

106. Basic unit of lifeis

a. Cell b. Tissue
c. Organ d. Organ system

Ans. (a) Cell

107. Cell is a unit of

a. Structure b. Function
c. Mass of protoplasm d. Bothaandb

Ans.(d) Bothaandb

108. Study of the cell structure under microscope is

a. Cytology b. Cell biology
c. Cytochemistry d. Microanatomy
Ans. (a) Cytology

109. Study of cells in all aspects is

a. Cytotaxonomy b. Cytology
c. Cellbiology d. Cytochemistry

Ans. (c¢) Cell biology

110. Cells were observed prior to Robert Hooke by

a. Aristole b. Malpighi
c. Bauhin d. Eicher

Ans. (b) Malpighi

111. Who initiated cell concept

a. Robert Hooke b. Leeuwenhoek
c. N.Grew d. Schleiden and Schwann

Ans.(c) N. Grew
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112. Cell was discovered by

a. Swanson b. Leeuwenhoek
c. Robert Hooke d. Robert Brown

Ans. (c) Robert Hooke

113. The cell was discovered in

a. 18th century

b. 19th century

c. Firsthalf of 17th century

d. Second half of 17th century

Ans.(d) Second half of 17th century

114. Cell, as basic unit of plants, was discovered by

a. Robert Brown b. Robert Hooke
c. Virchow d. Schleiden

Ans.(b) RobertHooke

115. Cell theory state that

a. All cells are living

b. All cells have nucleus

c. Cells are fundamental structural units of living
organisms

d. Cell reproduce by mitosis and meiosis

Ans. (c) Cells are fundamental structural units of living
organisms

116. Robert Brown is known for his discovery of

a. Chloroplasts b. Respirometer
c. Nucleus d. Mitochondria

Ans. (¢) Nucleus

117. Who applied cell theory to plants

a. Schwann b. Schleiden
c. Swanson d. Jenssen

Ans. (b) Schleiden

118. Theliving substance of cell was named sarcode by

a. Corti b. Dujardin
c. Lamarck d. Dutrochet

Ans. (b) Dujardin

119. The modern cell theory is called

a. Protoplasmictheory  b. Cell Principle
c. Cell Doctrine d. Bothaandc

Ans.(d) Bothaandc

120. Which ones do not have cellular structure

a. PPLO b. Rickettsia
c. Viruses d. Archaebacteria

Ans. (c) Viruses

121.

Ans.

122.

Ans.

123.

Ans.

124.

Ans.

125.

Ans.

126.

Ans.

127.

Ans.

128.

Ans.

129.

Ans.

130.

Robert Hooke discovered cell in

a. 1665 b. 1725
c. 1545 d. 1595
(a) 1665

‘Micrographia’ was written by

a. Grew b. Hooke
c. Brown d. Lamarck
(b) Hooke

Cell theory was first modified by

a. Schleiden b. Brown
c. Schwann d. Grew

(c) Schwann

Omnis cellula e cellula is generalization given
by

a. Lamarck b. Dutrochet

¢. Leeuwenhoek d. Virchow

(d) Virchow

Cells of Robert Hooke were actually

a. Cell walls b. Protoplasts
c. Wall-less cells d. Walled cells

(a) Cell walls

Cell principle is not applicable to

a. Bacteria b. Viruses
c. Algae d. Fungi

(b) Viruses

Distinction of individual cells is absent in

coenocytic organism
a. Ulothrix b. Volvox
c. Escherichia d. Rhizopus

(d) Rhizopus

Who believed in the individuality of cells?

a. Leeuwenhoek b. Lamarck
c. Dutrochet d. Malpighi

(c) Dutrochet

Who saw the living matter for the first time?

a. Leeuwenhoek b. Hooke
c. Grew d. Corti
(d) Corti

A nucleus is absent in the mature

a. Sieve tube cells
b. Mammalian erythrocytes



c. Monocytes
d. Bothaandb

Ans.(d) Bothaandb

131.

Ans.

132.

Ans.

133.

Ans.

134.

Ans.

135.

Ans.

136.

Ans.

137.

Ans.

138.

A tissue having more nonliving material than the
living matter is

a. Epithelial tissue
c. Connective tissue

b. Parenchyma
d. Nervous system

(c) Connective tissue

Who proposed protoplasmic theory as opposed to
cell theory?

b. Schultze
d. Strasburger

a. Virchow
c. Sachs

(b) Schultze

The theory proposing that body of an organism
consists of incompletely dividing cells is

a. Organismal theory
b. Protoplasmic theory
c. Cell theory

d. Theory of cell lineage

(a) Organismal theory

Organismal theory was proposed by

a. Van Mohl b. Sachs
c. Virchow d. Haberlandt
(b) Sachs

Cells are autonomous because

a. They synthesise components of living protoplasm
from nonliving materials

b. They are able to grow and divide

c. Each cell has its own life span

d. All of the above

(d) All of the above

“Each cell leads a double life” was first proposed
by

a. Schleiden b. Grew

¢. Von Mohl d. Malpighi
(@) Schleiden

Ageing is slow or absent in

a. Plants b. Parrot

c. Hydra d. Unicells

(d) Unicells

Which are less efficient?

a. Multicellular animals
b. Multicellular plants

Ans.

139.

Ans.

140.

Ans.

141.

Ans.

142.

Ans.

143.

Ans.

144.

Ans.

145.

Ans.

146.

Ans
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c. Colonial organisms
d. Unicellular organisms

(d) Unicellular organisms

A multicellular organism possesses

a. Differentiated cells

b. Undifferentiated cells
c. Dedifferentiated cells
d. All of the above

(d) All of the above

Number of types of cells found in human body is
a. 20 b. 30

c. 200 d. 300

(c) 200

Cells which lose theirnucleus during differentiation
are

b. Muscle cells
d. Leucocytes

a. Nerve cells
c. Erythrocytes

(c) Erythrocytes

A nucleated differentiated cell that has lost the
power to dedifferentiate is

b. Kidney cell

d. All of the above

a. Nerve cell
c. Liver cell

(a) Nerve cell

First successful culture was obtained by

a. Haberlandt b. White
c. Skoogand Miller d. Stewardetal

(b) White

Callus was grown successfully for the first time by

a. White b. Gautheret
c. Nabecourt d. All of the above

(d) All of the above

Morphogenesis in tissue culture was discovered by
a. Gautheret b. Skoogand Miller
c. Muiretal d. Steward etal

(b) Skoog and Miller

Who proposed for the first time that cells are
totipotent?

a. White

b. Haberlandt

c. Steward

d. Halperrin and Wetherell

. (b) Haberlandt
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147.

Ans.

148.

Ans.

149.

Ans.

150.

Ans.

151.

Ans.

152.

Ans.

153.

Ans

Objective Biotechnology

Steward et al performed experiment to prove
cellular totipotency of

b. Carrot

d. Potato

a. Tomato
c. Tobacco

(b) Carrot

Explants is

a. Propagule

b. Callus used for subculturing

c. Part of plant used in tissue culture

d. Part of tissue culture used for planting

(c) Partofplantusedin tissue culture

Whatwas done by Steward ef alin order to separate
individual cells of Carrotroot?

a. Shaking in liquid medium
b. Homogenization

c. Pressuresieving

d. Microsurgery

(a) Shaking inliquid medium

Single cells in Steward’s culture formed

a. Cellular clumps
b. Embryoids

c. Plantlets

d. All of the above

(d) Embryoids

Embryoids are

a. Somatic embryo-like structures
b. Small embryos through fertilization in culture

c. Early embryo stages used for propagationin tissue

culture
d. All of the above

(a) Somatic embryo-like structures

In animals, cellular totipotency has been restricted
only to

a. Germinal cells

b. Epithelial cells

c. Zygote

d. Zygote and early blastosomes

(d) Zygote and early blastosomes

Animal cloning is carried out by
a. Artificial fertilization of ovum
b. Direct growth of ovum

¢. Ovum with somatic nucleus
d. All of the above

. () Ovum with somatic nucleus

154.

Ans.

155.

Ans.

156.

The first successful animal cloning, Dolly, was
accomplished by

a. Fisher and Velton

b. Wilmutand Campbell

c. Morgan

d. Bernstein

(b) Wilmut and Campbell

Cells capable of division are
a. Stem cells

b. Meristematic cells

¢. Undifferentiated cells

d. All of the above

(d) All of the above

Differentiated cells are

a. Premitotic specialized

b. Post-mitotic specialized
c. Pre-meiotic specialized
d. Post-meiotic specialized

Ans. (b) Post-mitoticspecialized
157. RBCs are
a. Differentiated cells
b. Undifferentiated cells
c. Dedifferentiated cells
d. Dead cells
Ans. (a) Differentiated cells
158. During differentiation, RBCs lose
a. Aerobic respiration b. DNA replication
c. RNA synthesis d. All of the above
Ans. (d) All of the above
159. Dedifferentiated cells are formed in the region of
a. Injury b. Regeneration
c. Secondary growth d. All of the above
Ans. (d) All of the above
160. Functionally important dead cells are
a. Corkcells b. Tracheary elements
c. BothAandB d. Endothelial cells
Ans. (c) Both A and B
161. Rapidly dividing unorganized mass of cells in
tissue culture is
a. Callose b. Callus
c. Embryoid d. Plantlet
Ans. (b) Callus



162.

Ans.

163.

Ans.

164.

Ans.

165.

Ans.

166.

Ans.

167.

Ans.

168.

Ans.

169.

Mitosis allows the eukaryotic cells to
a. Expose DNA for protein synthesis
b. Grow in size

c. Multiply

d. Become specialized

(c) Multiply

In prophase and metaphase a chromosome
contains two

b. Chromomeres
d. Centrioles

a. Chromatids
c. Centromeres

(a) Chromatids

The centromere does not divide till the end of
metaphase. This is important because centromere

a. Is connected with nuclear envelop

b. Produces spindle fibres

c. Contains genes that control prophase and metaphase
d. Holds the replicated DNAs together

(@) Isconnected with nuclear envelop

Microtubules appearing around centriole pair in
the beginning of prophase in animal cells form

a. Spindle b. Aster
c. Spindle pole d. Chromosome fibres
(b) Aster

The stage at which cytokinesis begins in plant cell
is

a. Anaphase
c. Gyphase

b. Telophase
d. Interphase

(a) Anaphase

The stage at which cleavage or cytokinesis begins
in animal cells is

a. Anaphase
c. Gyphase

b. Telophase
d. Interphase

(a) Anaphase

A circle of vesicles appears at the equator of
spindle towards the end of anaphase. It will form

a. Cleavage furrow
c. Cell plate

(c) Cellplate

b. Phragmoplast
d. Middle lamella

The correct sequence of different phases of mitosis

is

a. Anaphase - Metaphase — Prophase — Telophase
— Interphase

b. Interphase — Telophase — Metaphase —
Anaphase — Prophase

Ans.

170.

Ans.

171.

Ans.

172.

Ans.

173.

Ans.

174.

Ans.

175.

Ans.

176.

Ans

Cell Structure and Function 13

c. Metaphase - Anaphase — Telophase — Prophase

d. Interphase — Prophase — Metaphase —
Anaphase — Telophase

(d) Interphase — Prophase — Metaphase —
Anaphase — Telophase

Which one of the organelles is responsible for the
formation of aster in cell division?

b. Centrosome
d. Chromosome

a. Ribosome
c. Lysosome

(b) Centrosome

Region of chromosome where force is exerted
during chromatid separation is

a. Telomere

b. Centromere

c. Chromomere

d. Chromonemata

(b) Centromere

Separation of chromosome daughters takes place
at

a. Telophase
c. Anaphase

b. Metaphase
d. Prophase

(c) Anaphase

Mitosis is usually studied in smears or sections of

a. Root tips
c. Floralbuds

(a) Roottips

b. Stem tips
d. All the above

Mitosis takes place in

a. All types of cells except those involved in gamete
formation

b. Gonads

c. Axillary buds situated near the apical bud

d. Cells of mature leaf

(a) Alltypes of cells except those involved in gamete
formation

Distribution of chromosomes in dividing cells
occurs during

a. Telophase
c. Metaphase

(d) Anaphase

b. Prophase
d. Anaphase

Plant and animal cell division differ in
a. Cell plate
c. Telophase

.(a) Cell plate

b. Prophase
d. Metaphase
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177.

Ans.

178.

Ans.

179.

Ans.

180.

Ans.

181.

Ans.

182.

Ans.

183.

Ans.

184.

Ans

Objective Biotechnology

Cytoplasmic structures involved in cell division are

a. Mitochondria
b. Ribosomes
c. Lysosomes
d. Centrioles

(d) Centrioles

Which one occurs once in life cycle?

a. Replication of DNA

b. Replication of chromosomes
c. Meiosis

d. Mitosis

(c) Meiosis

Bouquet stage occurs during

a. Leptotene
c. Pachytene

b. Zygotene
d. Diplotene

(a) Leptotene

Synapsis of homologous chromosomes was first
observed by

a. Winiwater b. Montgomery

c. Johanssen d. Zickler
(b) Montgomery
Syneptinemal complex is found associated with

a. Paired meiotic chromosomes
b. Lampbrush chromosomes

c. Polytene chromosomes

d. Mitotic chromosomes

(a) Paired meiotic chromosomes

In meiosis, chromosome replication occurs during

b. Interkinesis
d. Prophase I

a. Interphase
c. Prophasel

(a) Interphase

The transition between meiosis I and meiosis I1 is

b. Interkinesis
d. Prophase Il

a. Interphase
c. Telophase I

(b) Interkinesis

Chromosomes similar in size, shape, genes and
gene sequences are

a. Sister chromatids

b. Chromomeres

¢. Homologous chromosomes

d. Parental chromosomes

. (c) Homologous chromosomes

185.

Ans.

186.

Ans.

187.

Ans.

188.

Ans.

189.

Ans.

190.

Ans.

191.

Ans.

192.

Ans

Function of meiosisIis to separate

a. Homologous chromosomes pair
b. Sister chromatids

c. Cross-overs

d. Parental chromosomes

(a) Homologous chromosomes pair

Crossing over occurs in meiosis during

b. Prophase Il
d. Interkinesis

a. Prophasel
c. Interphase

(a) Prophasel

Pairing of homologous chromosomes is
a. Chiasma formation

b. Synapsis

c. Disjunction

d. Crossing over

(b) Synapsis

Separation of homologous chromosomes is called

a. Dispersion

b. Bivalent formation
c. Disjunction

d. Crossing over

(c) Disjunction

Homologous chromosomes separate during

b. Prophase Il
d. Anaphasel

a. Prophase I
c. Metaphase ]

(d) Anaphase I

Name the stage in meiosis when there are two cells
each with sister chromatids aligned at the equator
of the spindle
a. Prophase

c. Metaphase ]

(b) Metaphase II

b. Metaphase II
d. Anaphase I

The points of crossing over in meiosis appear as

a. Synaptinemal complexes
b. Protein axes

c. Chiasmata

d. Diakinesis

(c) Chiasmata

Number of bivalents are 8 in prophase I. what is
the number of chromosomes during anaphase I1?

a. 8 b. 4
c. 16 d. 32

(a) 8



193.

Ans.

194.

Ans.

195.

Ans.

196.

Ans.

197.

Ans.

198.

Ans.

199.

Ans.

200.

Chromosomes normally occur as homologous
pairs in

a. Egg b. Sperm
c. Gamete d. Zygote
(d) Zygote
Genome is

a. Genes of haploid of chromosomes
b. Genes of diploid of chromosomes
c. Asingle chromosome

d. None of the above

(a) Genes of haploid of chromosomes

Synapsis means

a. Pairing of any two chromosomes

b. Homologous chromosomes start separating
c. Pairing of homologous chromosomes

d. None of the above

(c) Pairing of homologous chromosomes

Chiasmata are formed during

a. Zygotene
c. Diplotene

b. Pachytene
d. Leptotene

(c) Diplotene

Meiosis is studied in smears of

b. Testes
d. Axillary buds

a. Developing anthers
c. Bothaandb

(c) Bothaandb

Chromosome syndesis or bivalent formation
occurs in

a. Leptotene
c. Pachytene

b. Zygotene
d. Diplotene

(c) Pachytene

Meiosis occurs in

a. Haploid cells
b. Mostly haploid cells but occasionally diploid
cells

c. Diploid cells
d. Mostly diploid cells but occasionally haploid cells

(d) Mostly diploid cells butoccasionally haploid cells

Oogenesis is an example of
a. Mitosis
b. Meiosis

c. Specialization of cell
d. DNA replication

Ans. (b) Meiosis

201.

Ans.
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Disjunction is

a. Chromosome separation during mitosis

b. Chromosome separation during prophase I
c. Chromosome separation in anaphase I

d. Chromosome separation during metaphase I

(c) Chromosome separation in anaphase I

202.At which stage of meiosis I, the homologous

Ans.

203.

Ans.

204.

Ans.

205.

Ans.

206.

Ans.

207.

Ans.

208.

Ans.

chromosomes separate but are held by chiasmata

a. Diakinesis
c. Pachytene

(b) Diplotene

b. Diplotene
d. Zygotene

Swellings present over the chromosomes are

b. Centrosome
d. Chromomeres

a. Centromeres
c. Puffs

(@) Centromeres

Number of cells daily replaced in human body is
a. 1x10° b. 5x 10°

c. 1x10%° d. 5x 10

(b) 5 x 10°

The term eumitosis is used for

a. Mitosis is higher in plants

b. Mitosis in animals

c. Mitosis where spindle is extranuclear
d. Mitosis with intranuclear spindle

(c) Mitosis where spindle is extranuclear

Premitosis is

a. Amitosis

b. G;

c. G,

d. Intranuclear mitosis

(d) G,

In leptotene, the chromosomes are

a. Attached tonuclear membrane by oneend

b. Attached tonuclear membrane by both ends directly

c. Attached to nuclear membrane by both ends
through attachment plate

d. Bothband c

() Attached to nuclear membrane by both ends
through attachment plate

Cell division was first studied by

b. Virchow
d. Flemming

a. Leeuwenhoek
c. Prevost and Dumas

(c) Prevostand Dumas
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209. Who found that new cells develop from pre-

Ans

210

Ans.

211.

Ans.

212.

Ans.

213.

Ans.

214.

Ans.

215.

Ans.

216.

Ans

Objective Biotechnology

existing cells?

b. Virchow
d. Strasburger

a. Remak
c. Prevost and Dumas

.(b) Virchow

. Celllineage theory was proposed by

b. Virchow
d. Van Beneden

a. Strasburger
c. Winiwater

(b) Virchow

Nucleus develops from a pre-existing nucleus.
The finding was made by

b. Winiwater
d. Strasburger

a. Farmer and Moore
c. Sutton

(d) Strasburger

A mitogen of plant origin is
a. Colchicine

b. Epidermal growth factor
c. Cytokinin

d. Lymphokine

(a) Colchicine

A mitogen of animal origin is

a. Cyanide

b. Azide

c. Chalone

d. Platelet derived growth factor

(d) Platelet derived growth factor

Which one is not a mitogen?

a. Epidermal growth factor

b. Platelet derived growth factor
c. Lymphokine

d. None of the above

(d) None of the above

Colchicine is
a. Mitotic poison b. Prophase poison

c. Cytokinesis poison d. None of the above

(a) Mitotic poison

Colchicine prevents

a. Interphase

b. Completion of metaphase

c. Condensation of chromosomes
d. Replication of chromosomes

. (b) Completion of metaphase

217.

Ans.

218.

Ans.

219.

Ans.

220.

Ans.

221.

Ans.

27002,

Ans.

223.

Ans.

224.

Ans

Autumn Crocusis source of

b. Chalones
d. Cytokinin

a. Azides
c. Colchicine

(c) Colchicine

Which one induces cell division?

a. Critical decrease in surface volume ratio

b. Critical decrease innucleocytoplasmicor kernplasma
ratio

c. Bothaandb
d. Decrease in cell size

(c) Bothaandb

The term mitosis was introduced by

a. Watson and Crick b. Beadle and Tatum
c. Farmer and Moore d. Flemming

(d) Flemming

The term meiosis was introduced by
a. Watson and Crick

b. Beadle and Tatum

¢. Farmer and Moore

d. Strasburger

(c) Farmer and Moore

Abnormal unlimited and uncontrolled cell
division results in

a. Pleurisy b. Cancer

c. Tumour d. Asphyxia

(b) Cancer

Cells having large nucleus in proportion to
cytoplasm are

a. Dead
c. Active

(b) Dividing

b. Dividing
d. None of the above

Colchicines results in doubling of chromosome
number because of

a. Nonformation of spindle

b. Double replication of chromosomes
¢. Nonpairing of chromosomes

d. Splitting of chromosomes

(a) Nonformation of spindle

Generation time represents period of

a. Cell cycle b. Interphase

¢. M-phase d. S-phase

. (@) Cell cycle



225.

Ans.

226.

Ans.

227.

Ans.

228.

Ans.

229.

Ans.

230.

Ans.

231.

Ans.

232.

Ans.
233.

Ans

a. Prophase
c. Gy-phase

b. Telophase
d. Gy-phase

(c) Gi-phase

Invisible stage of M-phase is

a. Gy-phase b. S-phase

c. Gy-phase d. Gy-phase
(b) S-phase

Histones are synthesized in

a. Prophase b. Gi-phase
c. S-phase d. Metaphase
(c) S-phase

Intermitosis is

a. Stage between meiosis I and meiosis I
b. Stage between two mitotic divisions

c. Interphase

d. Bothband ¢

(d) Bothband c

Which one is stored in G;-phase?

a. ATP b. Tubulin
c. Histone d. All the above
(a) ATP

Centriole replication occurs in

a. Early prophase b. G;-phase
c. S-phase d. Gy-phase
(c) S-phase

Post-mitotic phase is

a. Gy-phase b. G;-phase
c. S-phase d. G,-phase

(b) G;-phase

Cell cycle was discovered by
a. Farmer and Moore

b. Prevost and Dumas

c. Howard and Pele

d. Remak

(c) Howard and Pele

Decision of G,-phase occurs

a. Towards the end of G;-phase
b. Towards middle of G;-phase
c. Atthe end of telophase

d. Towards end of cytokinesis

. (b) Towards middle of G;-phase

Which one is the longest phase of cell cycle?

234.

Ans.

235.

Ans.

236.

Ans.

2237/

Ans.

238.

Ans.

239.

Ans.

240.

Ans.

241.

Ans.

242.

Ans
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Which specific protein is formed in G,-phase?
a. Histone b. DNA-polymerase
¢. Scaffold proteins d. Tubulin protein

(d) Tubulin protein

The stage at which DNA/chromosome replication

occurs is
a. Prophase b. Interphase
c. Metaphase d. Previous telophase

(b) Interphase

Each cell grows during the cell cycle in
Interphase b. Prophase
Metaphase d. Anaphase
(a) Interphase

The cell size doubles in a stage of cell cycle called
a. M b. G,

c. S d. G

(d) G,

The decision for cell division is taken
a. Before the start of prophase

b. Gi-phase

c. S-phase

d. G,-phase

(b) G;-phase

Chromatin fibres are observed only in the

b. Metaphase
d. Interphase

a. Prophase
c. Telophase

(d) Interphase

Chromosome replication occurs during
a. Metaphase b. S-phase
c. Anaphase d. Gy-phase
(b) S-phase

It is very difficult to stop cell division when the
cell has entered

a. Gy-phase b. G,-phase

¢. S-phase d. Prophase

(c) S-phase

At the time of fission, meganucleus of Paramecium
undergoes

b. Mitosis

d. Budding

a. Dispersion
c. Amitosis

.(c) Amitosis
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243.

Ans.

244.

Ans.

245.

Ans.

246.

Ans.

247.

Ans.

248.

Ans.

249.

Ans.

250.

Ans.

251.

Ans

Objective Biotechnology

Amitosis occurs during cell division in

a. Foetal membranes
c. Cartilage cells

(d) All the above

b. Endosperm
d. All the above

The division in which chromosomes do not
differentiate is

b. Free nuclear division
d. All the above

a. Amitosis
c. Intracellular division

(a) Amitosis

Amitosis was discovered by Remak in
a. 1841 b. 1855

c. 1880 d. 1905

(b) 1855

Dividing animal cells become nearly rounded in

a. Interphase
c. Late prophase

b. Early prophase
d. Metaphase

(b) Early prophase

When do viscosity and refractivity of cytoplasm
increase?

a. Gy-phase b. S-phase

c. Prophase d. Metaphase

(c) Prophase

Congression occurs during

a. Early prophase
c. Early metaphase

b. Late prophase
d. Late metaphase

(c) Early metaphase

In mitotic metaphase the limbs of the chromosomes
occur

a. On the equator

b. In different directions

c. Indivaricate condition

d. All the above

(b) In different directions

Phase of shortest duration is

b. Metaphase
d. S-phase

a. Prophase
c. Anaphase

(c) Anaphase

In animal cytokinesis, cleavage occurs with the
help of

a. Microtubules
c. Microfibrils

. (d) Microfilaments

b. Spindle fibres
d. Microfilaments

252.

Ans.

253.

Ans.

254.

Ans.

255.

Ans.

256.

Ans.

257.

Ans.

258.

Ans.

259.

Ans

A mid body is formed during

a. Animal cytokinesis
c. Metaphase

b. Plant cytokinesis
d. Bothaandb

(a) Animal cytokinesis

After mitosis, the number of chromosomes in the
daughter cell shall be

a. One fourth of parent cell
b. One half of parent cell

c. Twice of the parent cell
d. Same as the parent cell

(d) Same as the parent cell

The term nucleolus was coined by

b. Fontana
d. Strasburger

a. Bowman
c. Hanstein

(a) Bowman

Constitutive heterochromatin is
a. Condensed chromatin

b. Present in all cells

c. Made of repetitive bases

d. All the above

(d) All the above

Nonliving cell inclusions are called

a. Ergastic substances

b. Deuteroplasmic substances
c. Paraplasmic substances

d. All the above

(d) All the above

Idioblastis

a. Plant cell different from others

b. Plant cell having cell inclusions
c. Bothaandb

d. Animal cell different from others

(c) Bothaandb

Chromomeres were discovered by

b. Van Beneden
d. Winiwater

a. Strasburger
c. Pfitzner

(c) Pfitzner

The modern concept of chromosome structure was
put forward by

b. Laemli

d. Kornbery

a. Du Praw
c. Ris

. (b) Laemli



260.

Ans.

261.

Ans.

262.

Ans.

263.

Ans.

264.

Ans.

265.

Ans.

266.

Ans.

267.

Ans

NORis

a. Nucleotide organizing replicase
b. Nucleotide occluding region

c. Number of replicons

d. Nucleolar organizing region

(d) Nucleolar organizing region

NOR occurs in the region of

a. Secondary constriction
b. Primary constriction

c. Telomere

d. Centromere

(a) Secondary constriction

The term chromosome was introduced by

b. Benda
d. Hofmeister

a. Strasburger
c. Waldeyer

(c) Waldeyer
Chromosomes having slightly unequal arms is

called

a. Metacentric
c. Telocentric

b. Submetacentric
d. Acrocentric

(b) Submetacentric

If the centromere is terminal, the chromosome is
a. Metacentric

b. Submetacentric

c. Telocentric

d. Acrocentric

(c¢) Telocentric

In salivary gland chromosomes/polytene chro-
mosomes, pairingis

a. Absent

b. Occasional

c. Formed between nonhomologous chromosomes
d. Formed between homologous chromosomes

(d) Formed between homologous chromosomes

Polytene chromosome was first observed by
b. Heitz and Bauer
d. Khorana

a. Stevens and Wilson
c. Balbiani
(c) Balbiani

Chromosomes were first seen by

b. Waldeyer
d. Crick and Watson

a. Hofmeister
c. Walter S. Sutton

. (a) Hofmeister

268.

Ans.

269.

Ans.

270.

Ans.

271.

Ans.

272.

Ans.

273.

Ans

274.

Ans

275.
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Chromosomes having equal or almost equal arms
are called

b. Acrocentric
d. Acentric

a. Metacentric
c. Polycentric

(a) Metacentric

Chromosomes which remain condensed during
interphase are called

a. Heterochromosomes

b. Euchromosomes

c. Mega chromosomes

d. Polytene chromosomes

(a) Heterochromosomes

Diagrammatic representation of the chromosomes
of an organism arranged according to their size is
known as

a. Genome

b. Karyotype

c. Idiogram

d. None of the above

(c) Idiogram

Eukaryotic chromosomes are composed of

a. DNA + Protein b. DNA + RNA
c. RNA + Protein d. Only DNA

(a) DNA + Protein

Chromosomes otherthan sexchromosomes are called

b. Autosomes
d. All the above

a. Allosomes
c. Microsomes

(b) Autosomes

Lampbrush chromosomes are also called diplotene
chromosomes because they

a. Show chiasmata

b. Resemble diplotene chromosomes
c. Arein permanent diplotene stage
d. All the above

. (d) All the above

During staining, chromosomes get stained with

b. Borax carmine
d. Safranin

a. Eosine
c. Acetocarmine

.(c) Acetocarmine

Polytene chromosomes are noticed in

b. Pisum sativum
d. Drosophila

a. Man
c. Mice

Ans.(d) Drosophila
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276. The hereditary vehicleis

Ans

277/

Ans.

278.

Ans.

279.

Ans.

280.

Ans.

281.

Ans.

282.

Ans.

283.

Ans

a.
C.

Chromosome b. Centromere
Nucleus d. Nucleolus

. (@) Chromosome

a.
b.
C.

d.

(a) Uncoiling of chromonemata

Balbiani rings are

Uncoiling of chromonemata
Coiling of chromonemata
Enlargements of centromere
None of the above

Polytene chromosome in Drosophila is

a.
b.
C.
d.

(d) About500 timeslarger than somatic chromosome

a.

b.

d.

(a) Terminal part of the chromosome beyond

10 times larger than somatic chromosome

50 times larger than somatic chromosome

10 to 50 times larger than somatic chromosome
About 500 times larger than somatic chromosome

Satellite means

Terminal part of the chromosomebeyond secondary
constriction

Terminal part of the chromosome beyond primary
constriction

Terminal part of the chromosome beyond tertiary
constriction

None of the above

secondary constriction

Length of chromosomes is directly proportional to

a.
C.

a.
C.

a.

C.

Size of the cell b. Size of nucleus
Number of genes d. All the above

(c) Number of genes

A constriction on the chromosome is

Centromere b. Centrosome
Centriole d. Chromomere

(a) Centromere

Chromosome banding was discovered by

Caspersonet al b. Muller
Bergetal d. Christiande Duve

(@) Caspersonetal

Banding techniques used in case of plant
chromosomes are

a. Gand R b. Cand G
c. CandN d. Qand G
.(c) Cand N

284. The technique used to locate specific DNA

Ans.

285.

Ans.

286.

Ans.

287.

Ans.
288.

Ans.

289.

Ans.

290.

Ans

sequences over the chromosome is

a. Flow cytometry

b. Banding technique

c. Fluorescence in situ hybridization
d. Electrophoresis

(c) Fluorescence in situ hybridization

Flow cytometry prepares

a. Chromosome histogram
b. Idiogram

c. Karyotype

d. All the above

(a) Chromosome histogram

Mc FISH is used in

a. Locating a specific DNA sequence over a
chromosome

b. Locating two or more DNA sequences on the same
chromosome

c¢. Location deletion

d. Finding duplicated segments

(b) Locating two or more DNA sequences on the
same chromosome

Asymmetric karyotype is the one in which

a. There are more metacentric chromosomes

b. A few metacentric chromosomes

c. Differences between smallest and largest
chromosome is large

d. Bothbandc

(d) Bothband c

The term cell membrane was coined by
a. Nageli and Cramer b. Flemming
c. Sachs d. Plowe

(a) Nageli and Cramer

The term plasmalemma was coined by
a. Robertson

b. Plowe

c. Strasburger

d. Overton

(b) Plowe

Cell membrane is visible under

a. Electron microscope

b. Optical microscope

c. Both optical and electron microscope
d. Oil immersion lens

.(a) Electron microscope



291.

Ans.

20,

Ans.

293.

Ans.

294.

Ans.

28)5,

Ans.

296.

Ans.

297.

Ans.

298.

Ans

Average thickness of plasmalemma is
a. 0.25nm b. 2.5nm
c. 0.75nm d. 7.5 nm
(d) 7.5 nm

Cell membrane is

a. Unilaminar

b. Bilaminar

c. Trilaminar

d. Quadrilaminar

(c¢) Trilaminar

Tripartite nature of plasmalemma was discovered
by
a. Davson

c. Danieli
(b) Robertson

b. Robertson
d. Bothaandb

Who proposed the first lamellar model of
biomembranes

a. Danielli and Davson

b. Robertson

c. Helleir and Hoffmann

d. Singer and Nicolson

(a) Danielli and Davson

The concept of unit membrane was propounded by
a. Overton b. Gorter and Grendel
c. Davson d. Robertson

(d) Robertson

What is the latest and most acceptable model of
cell membranes

a. Lamellar model

b. Fluid mosaic model

¢. Micellar model

d. Unit membrane concept

(b) Fluid mosaic model

Cell membrane is composed of

a. Phospholipid
c. Polysaccharides

b. Nucleoprotein
d. Lipoprotein

(d) Lipoprotein

A biomembrane is made of

a. Proteins, lipids and carbohydrates
b. Proteins, lipids and RNA

c. Proteins, lipids and DNA

d. Proteins, lipids and hormones

. (@) Proteins, lipids and carbohydrates

299.

Ans.

300.

Ans.

301.

Ans.

302.

Ans.

303.

Ans.

304.

Ans.

305.

Ans.

306.

Ans
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Biomembranes are similar to “protein icebergs in
sea of lipids” was saying of

a. Singer and Nicolson

b. Danielli and Davson

c. Gorter and Grendel

d. Helleir and Hoffmann

(a) Singer and Nicolson

A cell membrane has

a. Middle electron dense layer

b. Middle electron transparent layer
c. Outer electron transparent layer
d. Inner electron transparent layer

(b) Middle electron transparent layer

Which one forms the continuous part of cell
membrane

a. Proteins b. Carbohydrates
c. Lipids d. All the above
(c) Lipids

Most abundant lipid of cell membrane is

a. Cholesterol b. Phospholipid
c. Glycolipid d. Cerebroside

(b) Phospholipid

Integral proteins of plasmalemma occur

a. On the outer surface
b. On the inner surface
¢. Onboth the surfaces
d. In the phospholipid matrix

(d) In the phospholipid matrix

Hydrophilic chemical of cell wall is

b. Suberin
d. Lignin

a. Pectin
c. Fat

(a) Pectin

Structural element of cell wall is
a. Matrix

b. Microfibrils

c. Microtubules

d. Arabinogalactans

(b) Microfibrils

Cellulose microfibrils get bound to pectins of

matrix through
a. Hemicelluloses b. Lignin
c. Peptidoglycan d. Glycoprotein

. (a) Hemicelluloses
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307.

Differentlayers of cell wall are

a. Middle lamella and primary wall

b. Primary wall and secondary wall

c. Middlelamella, primary wall and secondary wall
d. Wall layer exclude middle lamella

Ans. (c) Middlelamella, primary wall and secondary wall

308.

Which is the outermost structure of cell wall

a. Primary wall

b. Secondary wall

c. Tertiary wall

d. Middle lamella, if present

Ans. (d) Middle lamella, if present

309.

The first wall layer of cell is

a. Tertiary wall, if present
b. Secondary wall

c. Primary wall

d. Middle lamella, if present

Ans.(d) Middlelamella, if present

310.

The innermostlayer of cell wall is

a. Tertiary wall, if present
b. Secondary wall

c. Primary wall

d. Middle lamella, if present

Ans. (a) Tertiary wall, if present

311.

Which is component of cell wall is normally in
contact with plasmalemma

a. Primary wall
c. Plasmodesmata

b. Secondary wall
d. Middle lamella

Ans. (b) Secondary wall

312.

Primary wall grows by

a. Accretion
c. Intussusception

b. Introgression
d. All the above

Ans. (c) Intussusception

313.

Secondary wall grows in thickness by

a. Intercalation
c. Accretion

b. Introgression
d. Epiboly

Ans. (¢) Accretion

314.

Secondary wall is commonly formed of

a. Single layer
b. Many layers
c. Twolayers

d. Three layers

Ans. (d) Three layers

315.

Load bearing parts of the plant cells is
a. Middle lamella

b. Secondary wall

c. Primary wall

d. Tertiary wall

Ans. (b) Secondary wall
316. Primary wall has a thickness of
a. 0.1-3.0 ym b. 0.01-0.03 pm
c. 0.1-0.5 pm d. 0.5-1.5 um
Ans. (a) 0.1-3.0 pm
317. Primary wall is generally elastic due to absence of
a. Lignin b. Suberin
c. Cutin d. Silica
Ans. (a) Lignin
318. Plant cells are distinguishable from animal cell in
containing
a. Mitochondria b. Ribosomes
c. ER d. Cell wall
Ans. (d) Cell wall
319. The structural material of fungal cell wall is
a. Pectin b. Cellulose
c. Peptidoglycan d. Chitin
Ans. (d) Chitin
320. Ripe fruits soften due to
a. Degeneration of cell walls
b. Partial solubilisation of pectic compounds
c. Metabolism of tannins
d. Exosmosis
Ans. (b) Partial solubilisation of pectic compounds
321. Hardness of woody tissue is due to
a. Silica b. Lignin
c. Cellulose d. Suberin
Ans. (b) Lignin
322. Impermeability of cork is related to
a. Silica b. Lignin
c. Cellulose d. Suberin
Ans. (d) Suberin
323. Cutin occurs in
a. Phloem tissue b. Xylem tissue
c. Endodermis d. Epidermis
Ans. (d) Epidermis



324.

Ans.

325.

Ans.

326.

Ans.

327.

Ans.

328.

Ans.

329.

Ans.

330.

Ans.

331.

Ans

In primary wall, cellulose microfibrils are

a. Small, loose and wavy
b. Long, loose and wavy
c. Small, compact and straight
d. Long, compact and straight

(a) Small, loose and wavy

Cellulose contentis highin

a. Primary wall
c. Tertiary wall

b. Secondary wall
d. Middle lamella

(@) Primarywall

Tertiary wall is known from

a. Compression wood of dicots

b. Tension wood of gymnosperms
c. Cotton fibres

d. Allhard woods

(b) Tension wood of gymnosperms

Plasmodesmata were discovered by
a. Hanstein b. Kolliker
c. Strasburger d. Granier

(c) Strasburger

Part of endoplasmic reticulum present in a
plasmodesma is called

b. Cisterna
d. Myeloid body

a. Desmotubule
c. Vesicle

(a) Desmotubule

Uncutinised and non-suberised cell wall is
a. Semipermeable

b. Permeable

c. Impermeable

d. Selectively permeable

(b) Permeable

Adjacent tracheids and vessels can transfer sap
through thin areas in their walls called

a. Plasmodesmata
c. Tightjunctions

(d) Pits

b. Gap junctions
d. Pits

Pits are

a. Depressions in primary walls
b. Depressions in secondary walls
c. Bothaandb

d. Plasmodesmal connections

. (b) Depressions in secondary walls

332.

Ans.

333.

Ans.

334.

Ans.

335.

Ans.

336.

Ans.

337.

Ans.

338.
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A complete pitis

a. Depression in secondary wall

b. Pit chamber and primary wall

c. Pitchambers of twoadjacent cellsand pit membrane
d. Pit chamber, primary wall and middle lamella

(c) Pit chambers of two adjacent cells and pit
membrane

Pit membrane consists of

a. Primary wall

b. Middle lamella

c. Middle lamella + primary wall

d. Primary wall + middle lamella + primary wall

(d) Primary wall + middle lamella + primary wall

A pit presentin the wall of cell lying adjacent to an
intracellular space is

a. Complete pit

b. Blind pit

c. A pit without its partner
d. Bothband c

(d) Bothbandc

A disc-shaped thickening present on the pit
membrane is

a. Torus b. Callus
c. Tylosis d. Stoma
(a) Torus

Apoplastis

a. Cytoplasm and plasmalemma
b. Protoplast and plasmodesmata
c. Cell walls

d. Nonliving continuum made of free or outer spaces
of cells

(d) Nonliving continuum made of free or outer
spaces of cells

Cell coat consists of

a. Glycocalyx

b. Cellulose

c. Cellulose + Hemicellulose + Pectin
d. Protein

(a) Glycocalyx

Glycocalyxis
a. Glycoproteins and glycolipids

b. Oligosaccharide part of glycolipids and
glycoproteins
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Ans.

339.

Ans.

340.

Ans.

341.

Ans.

342.

Ans.

343.

Ans.

344.

Ans.

345.

Ans
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c. lipid and protein parts of glycolipids and
glycoproteins
d. mucopolysaccharides attached to cell wall

(b) Oligosaccharide part of glycolipids and
glycoproteins

Separated cells of two sponge species are mixed
up. They will

a. Remain separate

b. Aggregate tissue-wise

c. Aggregate and fuse to form hybrids

d. Aggregate species wise and reconstruct the sponges

(d) Remain separate

Separated cells of two vertebrates are mixed up.
They will

a. Aggregate species-wise

b. Aggregate tissue-wise

c. Aggregate species-wise and then tissue-wise

d. Aggregate species-wise and then reconstruct the
animals

(b) Aggregate tissue-wise

Glycocalyx is responsible for

a. Antigens like those of blood groups ABO
b. Immune reactions and histocompatibility
c. Hormone receptors

d. All the above

(d) All the above

The term protoplasm was coined by
a. Huxley b. Purkinje
c. Dujardin d. Schultze

(b) Purkinje

A unit of protoplasm having a nucleus and
covered by plasmalemma is called

b. Cell

d. All the above

a. Ectoplast
c. Cytoplast

(b) Cell

Protoplasm is

b. Granular
d. Crystallo-colloidal

a. Alveolar
c. Fibrillar

(d) Crystallo-colloidal

Who proposed cryastallo-coloidal nature of
protoplasm

a. Kolliker
c. Velton

. (a) Kolliker

b. Fromann
d. Hanstein

346.

Ans

347.

Ans.

348.

Ans

349.

Ans

350.

Ans

351.

Ans

352.

Ans

353.

Ans

354.

Ans.

Protoplastis

a. Granular protoplasm

b. Whole protoplasm of an organism

c. Unit of protoplasm contained in a cell
d. All the above

.(c) Unit of protoplasm contained in a cell

The percentage of proteins in the plasma membrane
is usually around

a. 70 b. 60
c. 40 d. 30
60

Who differentiated prokaryotic and eukaryotic cells

b. Linnaeous
d. Dougherty

a. Huxley
c. Whittaker

. (d) Dougherty
Mesokaryotic condition was distinguished by
a. Whittaker b. Dodge
c. Copeland d. Haeckel
.(b) Dodge
An akaryotic cell is

a. Single nucleated
c. Denucleated

.(d) Bothb and ¢

b. Prokaryotic
d. Bothband c

Protoplast excluding nucleus is called

a. Cytoplasm
c. Ectoplasm

b. Endoplasm
d. Protoplasm

. (a) Cytoplasm

Cell structure between plasmalemma and
karyothecais

a. Vacuole
c. Endoplasm

b. Nucleoplasm
d. Cytoplasm

. (d) Cytoplasm
Which one is an extracytoplasmic cell organelle
a. Vacuole b. ER
c. Nucleus d. Golgi apparatus

. (¢) Nucleus

In a membrane phospholipids, there are

a. One polar head and two nonpolar tails
b. Two polar head and one nonpolar tails
¢. One nonpolar head and two polar tails
d. Two nonpolar head and one polar tails

(a) Onepolarhead and twononpolar tails



355. Extrinsic proteins of cell membrane are

Ans. (¢) Attached to intrinsic proteins but are easily
separable
356. Main function of plasma membrane is to
a. Control cell movements
b. Control cell activities
c. Maintain cell shape and size
d. Regulate exchange of materials
Ans. (d) Regulate exchange of materials
357. Plasmalemma is
a. Permeable
b. Selectively permeable
c. Nonpermeable
d. Semipermeable
Ans. (b) Selectively permeable
358. The process of taking in liquid material by
infolding of membrane is known as
a. Phagocytosis b. Osmosis
c. Active transport d. Pinocytosis
Ans. (d) Pinocytosis
359. Taking in of food particles or foreign bodies
through cell membrane is
a. Phagocytosis b. Pinocytosis
c. Osmosis d. Active transport
Ans. (a) Phagocytosis
360. Pinocytosis was studied for the first time by
a. Metchnikoff b. Lewis
c. Plowe d. Nageli
Ans. (b) Lewis
361. A prokaryotic cell is characterized by
a. Cellulose cell wall
b. Single envelope system
c. Double envelope system
d. Presence of histones
Ans. (b) Single envelope system
362. Bacteria do not possess
a. DNA b. RNA
¢. Nucleus d. Lipids
Ans. (c) Nucleus

a. Present superficially and are easily separable
b. Present superficially and are not separable

c. Attached tointrinsic proteins but are easily separable

d. Attached to intrinsic but are not easily separable

363.

Ans.

364.

Ans.

365.

Ans.

366.

Ans.

367.

Ans.

368.

Ans.

369.

Ans.

370.

Ans.
371.

Ans
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Bacteria with tuft of flagella at one end is

a. Monotrichous
c. Peritrichous

(b) Lophotrichous

b. Lophotrichous
d. Atrichous

Vibrio choleraeis

a. Monotrichous
c. Lophotrichous

b. Amphitrichous
d. Peritrichous

(a) Monotrichous

A bacterium is stained with Gram stain. It retains
purple stain even after washing with acetone. The
bacterium is

a. Gram (+)

c. Gram neutral

(a) Gram (+)

b. Gram (-)
d. Eosinophil

Which one is Gram (+)

a. Pseudomonas
c. Pneumococcus

b. Escherichia
d. Cyanobacteria

(c) Pneumococcus

A Gram (-) prokaryotic is

b. Rickettsia
d. All the above

a. Mycoplasma
c. Chlamydia

(d) All the above

Cell envelope is

a. Glycocalyx

b. Mucilage sheath

c. Mucilage sheath and cell wall

d. Mucilage cheath, cell wall and plasmalemma

(d) Mucilage cheath, cell wall and plasmalemma

Teichoic acid is present in

a. Mycobacterium
¢. Gram (+) bacteria

b. Haemophilus
d. Gram (-) bacteria

(c) Gram (+) bacteria

Mycotic acid occurs in the wall of

a. Eubacteria
c. Archaebacteria

b. Actinomycetes
d. Blue green algae

(b) Actinomycetes

Periplasmic space occurs in between

a. Outer wall and inner wall

b. Outer wall membrane and inner membrane
c. Walland plasmalemma

d. Plasmalemma and cytoplasma

.(c) Wall and plasmalemma
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372.

Ans

373.

Ans.

374.

Ans.

375.

Ans.

376.

Ans.

S,

Ans.
378.

Ans
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Wallis

a. Single layered and wavy in Gram (-) bacteria
b. Two layered and smooth in Gram (+) bacteria
c. Two layered and wavy in Gram (+) bacteria
d. Two layered and wavy in Gram (-) bacteria

. (d) Two layered and wavy in Gram (-) bacteria

In Gram (-) bacteria, peptidoglycanis

a. 70 -80% and present in outer wall layer
b. 10 -20% and present in inner wall layer
c. 10-20% and present in outer wall layer
d. 70 -80% and found in inner wall layer

() 10-20% and present in outer wall layer

Bacterial wall contains

a. Cellulose

b. Peptidoglycan
c. Murein

d. Bothbandc

(d) Bothbandc

Murein peptidoglycan of bacterial wall is formed of

a. Glucose and peptide

b. Acetyl glucosamine and peptide

c. Acetyl muramic acid and acetyl glucosamine

d. Acetyl glucosamine and acetyl muramicacid cross
linked with small peptides.

(d) Acetyl glucosamine and acetyl muramic acid
cross linked with small peptides.

Antibiotic penicillin and cyclosporine kill

bacteria by

a. Hydrolyzing pepidoglycans

b. Preventing cross-linking of acetyl glucosamine
and acetyl muramic acid

c. Hydrolyzing plasmalemma

d. Preventing ATP synthesis

(b) Preventing cross-linking of acetyl glucosamine
and acetyl muramic acid
Porins occur in

a. Outer wall of Gram (-) bacteria
b. Inner wall of Gram (-) bacteria
c. Wall of Gram (+) bacteria

d. Wall of all types of bacteria

(a) Outer wall of Gram (-) bacteria

Plasmalemma of bacteria contains

a. Cholesterol
c. Cerebrosides

. (b) Hopanoids

b. Hopanoids
d. All the above

379. Chondriodis

Ans.

380.

Ans.

381.

Ans.

382.

Ans.

383.

Ans.

384.

Ans.

385.

Ans.

386.

Ans

a. A small mitochondrion found in prokaryotes
b. Anaerobic bacterium

c. Arespiratory mesosome

d. A spiral aggregate of ribosomes

(c) Arespiratory mesosome

Components 0of 70 S ribosome are

a. 50Sand 30S
b. 50Sand 20 S
c. 40Sand 40S
d.40Sand 30S

(@) 50Sand30S

Chromoplasm occurs in

a. Bacteria
c. Cyanobacteria

b. Actinomyces
d. Mycoplasma

(c) Cyanobacteria

Chlorosomes occur in

a. Purple bacteria
¢. Green bacteria

b. Cyanobacteria
d. All the above

(c) Green bacteria

Chlorosomes are peculiar in having

a. Bacteriochlorophyll

b. Bacteriophaeophytin

c. Carotenoids

d. Non-unit protein membrane

(d) Non-unit protein membrane

Chromoneme is the term used for

b. Nucleoid
d. Bothbandc

a. Plasmid
c. Genophore

(d) Bothbandc

Prokaryotic DNA is naked because itis not

a. Covered by nuclear envelope
b. Associated with histone

c. Organized into nucleus

d. All the above

(b) Associated with histone

A plasmid which gets associated with nucleoid is
called

a. Episome

b. Cryptic plasmid
c. Proplasmid

d. Temperate

.(a) Episome



387.

Ans.
388.

Ans.

389.

Ans.
390.

Ans.

391.

Ans.

392.

Ans.

8OE8

Ans.
394.

Ans.
395.

Ans

A bacterial cell inclusion which does not have its
own covering membrane is

b. Gas vacuole
d. PHB granules

a. Gas vesicle
c. Sulphur granule

(b) Gas vacuole

Which one are called metachromatic granules?

a. Volutin granules

b. Magnetite granules

c. Sulphur and iron granules
d. All the above

(d) All the above

Magnetic granules occur in
a. Aquaspirillium
c. Cladothrix

(a) Aquaspirillium

b. Spirulina
d. Thiobacillus

Which one is a proteinaceous food reserve

a. o-granules
c. Cyanophycin

b. B-granules
d. PHB granules

(c) Cyanophycin

Bacterial flagella are

a. Unistranded solid b. Unistranded hollow

c. Multistranded solid
(b) Unistranded hollow

Which one takes part in bacterial conjugation

a. Flagellum b. Pilus

¢. Fimbria d. Plasmodesma

(b) Pilus

Number of basal body rings present in Gram (-)
bacteria is

a. One b. Two

c. Three d. Four

(d) Four

Number of network present in a plant cell wall is
a. Three b. Two

¢. One d. Four

(a) Three

Besides cellulose microfibrils, the other two cell
wall networks are

a. Protein and hemicelluloses
b. Hemicelluloses and protein
c. Pectin and glycoprotein

d. Pectin and hemicelluloses

. (c) Pectin and glycoprotein

d. Multistranded hollow

396.

Ans.

397.

Ans.

398.

Ans.

399.

Ans.

400.

Ans.

401.

Ans.

402.

Ans.

403.

Ans.
404.

Ans
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Mitochondria and plastids multiply through

a. Binary fission
b. Multiple fission
c. Budding

d. All the above

(a) Binary fission

A nonliving structure of cell is

a. Cell wall

b. Plasma membrane
c. Cytoplasm

d. Nucleus

(a) Cell wall

The chemical present in the cell wall is

a. Pectin
c. Cellulose

(d) All the above

b. Lignin
d. All the above

All plant cells possess

a. Middle lamella
c. Lysosomes

b. Primary wall
d. Centriole

(b) Primary wall

Middle lamella occurs

a. Inner to primary wall
b. Inner to secondary wall
c. Outer to secondary wall
d. Outer to primary wall

(d) Outer to primary wall

Middle lamella contains
a. Cellulose b. Pectate
c. Lignin d. Cutin

(b) Pectate

Matrix of cell wall is made of

b. Hemicelluloses
d. Cellulose

a. Pectin
c. Glycoprotein

(a) Pectin

Chemical absent from matrix of cell wall is

b. Water
d. Cellulose

a. Lipid
c. Glycoprotein
(d) Cellulose

The term cytoplasm was coined by

a. Sachs
c. Hanstein

b. Strasburger
d. Flemming

. (b) Strasburger

27
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405. Jelly-like semifluid complex of cytoplasm is
called
a. Endoplast b. Cytosol
c. Cytoplasmic matrix d. Bothbandc
Ans. (d) Bothb and ¢
406. Plasmagel or gel part of cytosol in contact with
plasmalemma is
a. Ectoplast b. Hyaloplasm
c. Hyalosome d. Bothaandb
Ans. (a) Ectoplast
407. Plasmasol or sol part of cytosol is known as
a. Hyalosome b. Hyaloplasm
c. Endoplast d. Bothband ¢
Ans. (d) Bothb and ¢
408. Which part of protoplast shows streaming or
cyclosis
a. Ectoplast b. Endoplast
c. Endoplasmic matrix d. Nucleoplasm
Ans. (b) Endoplast
409. Cytoplasmic streaming or cyclosis is absent in
a. Plant cells b. Animal cells
c. Protozoan protists d. Prokaryotes
Ans. (d) Prokaryotes
410. Cyclosis was first studied by
a. Robertbrown b. Dalton and Felix
¢. Amici d. Sachs
Ans. (¢) Amici
411. Amici (1818) studied cyclosis for the first time in
a. Hydrilla b. Amoeba
c. Chara d. Acetabularia
Ans. (¢) Chara
412. Cyclosis is caused by activity of
a. Microtubules b. Microfilaments
c. Intermediate filaments d. All the above
Ans. (b) Microfilaments
413. Circulation type of protoplasmic streaming is
studied in
a. Stamina hair cell of Tradescantia
b. Hydrilla leaf cells
c. Vallisneria leaf cells
d. Bothband ¢
Ans. (a) Stamina hair cell of Tradescantia

414.

Ans.

415.

Ans.

416.

Ans.

417.

Ans.

418.

Ans.

419.

Ans.

420.

Ans.

421.

Ans

In circulation streaming protoplasm moves in

a. One direction

b. Two opposite directions around a vacuole

c. Different directions around different vacuoles
d. Bothaandb

(c) Different directions around different vacuoles

In rotation type of cyclosis, the cytoplasmic matrix
flows in

a. One direction

b. Two opposite directions
c. Different directions

d. Side-ways

(a) One direction

The term organoid is used for

b. A distinct tissue
d. Cell organelle

a. Ill defend organ
c. Idioblast

(d) Cell organelle

A membrane-lined system of channels present
throughout the cytoplasm is

a. Endoplasmic reticulum
b. Golgi apparatus

c. Microtubules

d. Bothbandc

(a) Endoplasmic reticulum

Percentage of cell membranes contained in ER is

a. 10-20 % b. 20-30%
c. 30-60% d. 60-75%

(c) 30-60%

ER is absent in

a. Animal cells
c. Plant cells

b. Prokaryotes
d. Protista and fungi

(b) Prokaryotes

Eukaryotic cells devoid of ER are

b. Kidney cells
d. Mature erythrocytes

a. Liver cells
c. Mature leucocytes

(d) Mature erythrocytes

An intracellular structure believed to be formed
by inpushing of plasmalemma is

a. Endoplasmic reticulum

b. Nuclear envelope

c. Mitochondrion

d. Chloroplasts

(a) Endoplasmic reticulum



422.

Ans.

423.

Ans.

424.

Ans.

425.

Ans.

426.

Ans.

427.

Ans.

428.

Ans.

429.

Ans

430.

Ans

Eukaryotic cells which contain very little of ER are

b. Ova
d. All the above

a. Early embryonic cells
c. Resting cells

(d) All the above

ER is made of

a. Cisternae b. Tubules

c. Vesicles d. All the above

(d) All the above

Spermatocytes possess ER in the form of

a. A few vesicles
b. A few tubules
c. Abundant tubules and vesicles
d. Cisternae, tubules and vesicles

(a) A few vesicles
Sacroplasmic reticulum is endoplasmic reticulum

of

a. Adipose cells
c. Nerve cells

b. Muscle cells
d. Leucocytes

(b) Leucocytes

In nerve cells, ER forms

a. Myeloid bodies
c. Nissl granules

b. Neurotubules
d. Neurofilaments

(d) Neurofilaments

Myeloid bodies are granular structures formed of
ERin

a. Retinal cells
c. Plasma cells

(a) Retinal cells

b. Adipose cells
d. Reticulocytes

In adipose cells, ER is represented by

a. Cisternae and tubules
b. A few tubules
c. Cisternae and vesicles
d. A few vesicles

(b) A few tubules

ER was discovered by

a. Palade
c. Thompson

.(d) Bothbandc

b. Porteretal
d. Bothband ¢

The term endoplasmic reticulum was coined by

a. Thompson b. Palade
c. Porter d. Garnier
. (c¢) Porter

431.

Ans.

432.

Ans.

433.

Ans.

434.

Ans.

435.

Ans.

436.

Ans.

437.

Ans.

438.

Ans.

439.

Ans
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The term ergastoplasm was given to basophilic
membranous structures by

a. Palade
c. Schimper

(b) Garnier

b. Garnier
d. Fleming

ER was discovered from

a. Liver cells
c. Muscle cells

b. Kidney cells
d. Nerve cells

(a) Liver cells

Membrane thickness of ER is

a. 75A b. 90 A

c. 50-60 A d. 3040 A
(c) 50-60 A

ER without association with ribosomes is called

b. SER
d. Bothband ¢

a. Transitional ER
c. Agranal ER

(d) Bothbandc

Rough endoplasmic reticulum is the one that
contains

a. Abundant tubules
b. Association with ribosomes

c. Fenestrations
d. Bothband ¢

(b) Association with ribosomes

RER is

a. Neutrophilic
c. Basophilic

b. Acidophilic
d. Neutrogenic

(c) Basophilic

What is more abundant in SER

a. Cisternae and vesicles
b. Cisternae and tubules
c. Tubules and vesicles
d. Cisternae

(c) Tubules and vesicles

What is more abundant in RER

b. Vesicles
d. Bothaandb

a. Cisternae
c. Tubules

(a) Cisternae

P,;, and P5 occurs over

a. SER
c. Annulate ER

.(a) SER

b. RER
d. Transitional ER
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440. SER takes partin synthesis of

b. Vitamins
d. All the above

a. Lipids and steroids
c. Carbohydrates

Ans. (d) All the above

441.

Ans.

442,

Ans.

443.

Ans.

444.

RER is specialized for synthesis of

a. Local proteins

b. Local proenzymes

c. Proteins and proenzymes for transport
d. Hormones

(c) Proteins and proenzymes for transport

Pollutants and carcinogens are detoxified by

b. SER in liver
d. Bothaandb

a. Pyspand Pyyg
c. RERinliver

(d) Bothaandb

Ribophorins are required for

a. Synthesis of ribosomes in nucleolus

b. Attachment of ribosomes over RER

c. Attachment of ribosome subunits

d. Attachment of mRNA to ribosomes for protein
synthesis

(b) Attachment of ribosomes over RER

Which of the following provides mechanical
support to cell

a. Ribosomes
b. Golgibodies
c. Lysosomes
d. Microfibrils

Ans.(d) Microfibrils

445. Endoplasmic reticulum occurs in the form of
a. Vesicles
b. Cisternae
c. Tubules
d. All the above
Ans. (d) All the above
446. Cells specialized in secretion of proteinaceous
substances possess
a. Bound ribosomes b. Freeribosomes
c. Abundant amino acids d. Abundant mRNA
Ans. (a) Bound ribosomes
447. Besides proteins, ribosomes contain
a. DNA b. RNA
c. BothDNA and RNA  d. Lipids
Ans. (b) RNA

448.

Ans.

449.

Ans.

450.

Ans.

451.

Ans.

452.

Ans.

453.

Ans.

454.

Ans.

455.

Ans.
456.

Ans

Sedimentation unit of ribosome is

a. p (micron)
c A (Angstrom)

(d) S (Svedberg)

b. ym (milimicron)
d. S (Svedberg)

Cytoribosomes of eukaryotes are different from
those of bacterial cells in having

a. Smaller size (70 S type)

b. Larger size (80 S type)

c. Differential chemical structure
d. All the above

(b) Larger size (80 S type)

A ribosome is composed of

b. Two subunits
d. Four subunits

a. A single unit
c. Three subunits

(b) Two subunits

Ribosome develop from

a. Nucleus b. Nucleolus
c. Endoplasmic reticulum d. Mitochondria

(b) Nucleolus

Polysome is a chain of

a. Oxysomes
c. Ribosomes

b. Sphareosomes
d. Dicytosomes

(c) Ribosomes

Enzyme peptidyl transferase occurs in

a. Large subunit of ribosome
b. Smaller subunit of ribosome
c. Endoplasmic reticulum

d. Lysosomes

(a) Large subunit of ribosome

Hydrolases identified from differentlysosomes are
a. 30 b. 35

c. 50 d. 70

(c) 50

An enzyme often present in lysosomes and having
antiseptic property is
a. Lysozyme
c. Lipofucin

b. Plasminogen activator
d. Bothband c

(a) Lysozyme

Secondary lysosome are

a. Digestive vacuoles
c. Residual vacuoles

. (d) All the above

b. Autophagic vacuoles
d. All the above



457.

Ans.

458.

Ans.

459.

Ans.

460.

Ans.
461.

Ans.
462.

Ans.
463.

Ans.

464.

Ans

Lysosomes containing inactive enzymes are called

a. Primary lysosomes
b. Secondary lysosomes
c. Autophagosomes

d. Residual bodies

(a) Primary lysosomes

Lysosomes alongwith food content is known as

a. Primary lysosomes
¢. Microbodies

b. Secondary lysosomes
d. Residual bodies

(b) Secondary lysosomes

Autophagic vacuoles digest

a. Cell organelles

b. Solid particles of phagosomes
c. Fluid droplets of pinosomes
d. All the above

(a) Cell organelles

Residual vacuoles throw their undigested
materials by

a. Pinocytosis
c. Ephagy

b. Phagocytosis
d. Diffusion

(c) Ephagy
Lipofuscin granules present in nerve cells are
actually

a. Primary lysosomes

b. Digestive vacuoles

c. Residual bodies

d. Newly digested lipids

(c) Residual bodies
Cartilage matrixis digested during its osteogenesis
through

a. Intracellular autophagic activity
b. Extracellular lysosomal activity

c. Intracellular heterophagic activity
d. Bothband ¢

(b) Extracellular lysosomal activity

Disease caused by hyperactivity of lysosomes is

a. Arthritis b. Gout
c. Lung fibrosis d. All the above

(d) All the above
A disease caused by reduced ephagic activity of
residual bodies is

a. Hepatitis
c. Hypertension

.(d) Bothaandb

b. Polynephritis
d. Bothaandb

465.

Ans.

466.

Ans.

467.

Ans.

468.

Ans.

469.

Ans.

470.

Ans.

471.

Ans.

472.

Ans.

473.

Ans
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Which oneis lysosomal activity

a. Reabsorption of tadpole tail

b. Mobilization of stored substances
¢. Removal of obstructions

d. All the above

(d) All the above

When are lysosomes extra-active

a. Seed maturation
c. Flowering

b. Seed germination
d. Fruiting

(b) Seed germination

Cell organelles getting stained with redox dye
Janus Green is

b. Mitochondrion
d. Golgi apparatus

a. Lysosome
c. Ribosome

(b) Mitochondrion

An early name of mitochondrion was

a. Fila b. Sacrosome

c. Bioplast d. All the above

(d) All the above

Mitochondria were discovered by

a. Michaelis b. Benda
c. Kolliker d. Krebs

(c) Kolliker

The scientist who related mitochondria to aerobic
respiration is

b. Michaelis
d. Fernandes-Moran

a. Kinsbury
c. Seekevitz

(a) Kinsbury

An eukaryotic aerobic cell that does not possess

mitochondria is
a. Liver cell b. Kidney cell
c. Erythrocyte d. Leucocyte

(c) Erythrocyte

Single mitochondria is found in

b. Chlorella
d. All the above

a. Microasterias
c. Micromonas

(d) All the above
Number of mitochondria present in a sperm is
a. 4-6 b. 12-14
c. 20-24 d. 40-50
.(c) 20-24
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474. Number of mitochondria found in akidney cell is

a. 100-150 b. 300-400
c. 500-600 d. 1000-1200

Ans. (b) 300-400

475. A liver cell contains mitochondria
a. 500-600 b. 1000-1200
c. 1500-2000 d. 2000-4000

Ans. (a) 500-600

476. Giant Amoeba (Chaos chaos) has mitochondria
a. 5000-10000 b. 50,000
c. 80,000 d. 100,000

Ans. (b) 50,000

477. Number of mitochondria found in flight muscle

cell can be
a. 500,000 b. 200,000
c. 100,000 d. 50,000-100,000

Ans. (b) 200,000

478. In animal cell, a mitochondrion is

a. Largest organelle

b. Second largest organelle
c. Third largest organelle
d. None of the above

Ans.(b) Second largestorganelle

479. Outer mitochondrial membrane resembles
bacterial membrane and outer chloroplast
membrane having

a. Selective permeability b. Single ion channels
c. Porin d. All the above

Ans. (c¢) Porin

480. Cristae were discovered by

a. Palade
c. Nass and Afzelius

Ans. (a) Palade

b. Fernandes-Moran
d. Luck and Rich

481. Power houses of the cell are

a. ATP
c. Mitochondria

Ans.(c) Mitochondria

b. Lysosomes
d. Chloroplasts

482. Number of oxisomes presentin a mitochondrionis

believed tobe
a. 10°-10* b. 10*-10°
c. 105-10° d. 10°-107

Ans. (b) 10%-10°

483.

Ans.
484.

Ans.
485.

Ans.

486.

Ans.

487.

Ans.

488.

Ans.

489.

Ans.
490.

Ans.

491.

Ans

In the inner mitochondrial membrane, proton
channel is constituted by

b. F;
d. Cytochrome oxidase

a. Fy
c. NADH (H*)

(a) Fo

Mitochondrial matrix contains

b. DNA and RNA
d. All the above

a. Enzymes
c. Ribosomes

(d) All the above

Small particles attached to inner mitochondrial
membrane are

b. Cristae
d. Quantasomes

a. Ergosomes
c. Elementary particles

(c) Elementary particles

Mitochondria are concerned with

a. Oxidative phosphorylation
b. Intermediate metabolism
c. Krebscycle

d. All the above

(d) All the above

In prokaryotes oxidative phosphorylation is
carried out by

b. Plasma membrane
d. Chromatophore

a. Chondriome
c. Lomasome

(b) Plasma membrane

Mitochondria are semi-autonomous due to

a. Presence and functional naked DNA
b. Presence of ribosomes

c. Ability to divide

d. All the above

(d) All the above

Pigment free plastids are

a. Chloroplasts
c. Lysosomes

b. Chromoplasts
d. Leucoplasts

(d) Leucoplasts

The term plastids was given by

b. Haeckel
d. Strasburger

a. Schimper
c. Hanstein

(b) Haeckel

All types of plastids are formed from

a. Protoplastids
c. Amyloplasts

b. Leucoplasts
d. Aleuroplasts

. (a) Protoplastids



492.

Ans.

493.

Ans.

494.

Ans.

495.

Ans.

496.

Ans.

497.

Ans.

498.

Ans.

499.

Ans.

500.

Protoplastids are found in

a. Root cells
c. Meristematic cells

b. Storage cells
d. Cortical cells

(c) Meristematic cells

The plastid which can form all other types of
plastids is

a. Leucoplast
c. Chloroplast

b. Amyloplast
d. Chromoplast

(a) Leucoplast

Chromoplasts are formed from chloroplasts
during

a. Ripening of tomato b. Ripening of chilli
c. Development of carrot d. Bothaandb

(d) Bothaandb

Chromoplasts are formed from leucoplasts in

b. Carrot
d. All the above

a. Rose petals
c. Dahlia florets

(b) Carrot

The plastids with irregular shape are

b. Chloroplasts
d. Amyloplasts

a. Leucoplasts
c. Chromoplasts

(c) Chromoplasts

Irregular shape of chromoplasts is due to

a. Genetic differences

b. Crystallization of carotenoids
c. Formation of lipids

d. Destruction of lamellae

(b) Crystallization of carotenoids

Leucoplasts are present in

a. Green cells

b. Pigmented cells other than green
c. Nonpigmented cells

d. Bothaandb

(c) Nonpigmented cells

Organelle covered by double membrane is

b. Mitochondrion
d. All the above

a. Nucleus
c. Plastid

(d) All the above

Plastids with 3 or 4 membrane covering are found
in

a. Gymnosperms

b. Pteridophytes

Ans.

501.

Ans.

502.

Ans.

503.

Ans.

504.

Ans.

505.

Ans.

506.

Ans.

507.

Ans.

508.

Ans
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c. Euglenoids and Brown Algae
d. Bryophytes
(c) Euglenoids and Brown Algae

Plastids contain

a. Double membrane covering
b. DNA,RNA and ribosomes

c. Lamellae

d. All the above

(d) All the above

Starch is stored in

a. Chromoplasts
c. Chloroplasts

(d) Bothbandc

b. Amyloplasts
d. Bothbandc

Plastids storing proteins are called

b. Oleosomes
d. Phaeoplasts

a. Elaioplasts
c. Aleuroplasts

(c) Aleuroplasts

Organelle ribosomes occur in
a. Bacteria

b. Blue-Green algae

c. Plastids and mitochondria
d. Nucleus

(c) Plastids and mitochondria

Organelle ribosomes resembles

a. Organelle ribosomes of prokaryotes
b. Cytoribosomes of prokaryotes

c. Cytoribosomes of eukaryotes
d. All the above

(b) Cytoribosomes of prokaryotes

Ribosomes was first observed by

a. Claude b. Palade
c. George d. De Duve
(a) Claude

Palade granules are

a. Glycoprotein particles b. Pigment granules
c. Excretory vesicles d. Ribosomes

(d) Ribosomes

Ribosomes were discovered by

a. Palade b. Thompson

c. Perner d. Schimper
.(a) Palade

33
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509.

Ans.

510.

Ans.

511.

Ans.

512.

Ans.

513.

Ans.

514.

Ans.

515.

Ans.

516.

Ans.

517.

Ans
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Organelle and prokaryotic ribosomes are generally
a. 80S b. 100S

c. 70S d. 45S

(© 70S

Eukaryotes possess ribosomes

a. 60S b. 705

c. 80S d. Bothbandc

(c) 80S

An organelle devoid of membrane covering is

b. Peroxisome
d. Sap vacuole

a. Lysosome
c. Ribosome

(c) Ribosome

Element required for bringing about union of
ribosome subunit is

a. Ca* b. Mg?*

c. Fe? d. Cu*

(b) Mg**

Size of 80S, ribosome is

a. 150-200 A x 135-150 A
b. 200-290 A x 170-210 A
c. 250-300 A x 180-220 A
d. 300-340 A x 200-240 A
(d) 300-340 A x 200-240 A

Dalton weight of 70S ribosome is

a. 2.7-3.0 million b. 3.1-3.5 million
c. 3.6-4.0 million d. 4.0-4.5 million

(a) 2.7-3.0 million

rRNA: protein ratio of 80 S ribosome is

a. 4044 : 56-60
b. 45-50 : 50-55
c. 50-55:45-50
d. 60-65:35-40

(a) 40-44:56-60

rRNA present in 40 S subunit of ribosome is

a. 58S b. 5.8S
c. 28S d. All the above

(d) All the above

rRNA present in 60 S subunit of ribosome is

a.5S b. 5.8s
c. 28s d. All the above

. (d) All the above

518.

Ans.

519.

Ans.

520.

Ans.

52418

Ans.

5228

Ans.

5288

Ans.

524.

Ans.

525.

Ans.

526.

rRNA present in 50 S subunit of ribosome is

a. 23S b.5S
c. Bothaandb d. 23S5,5.8Sand5S

(c) Bothaandb

Number of proteins associated with 60 S ribosome
subunit is

a. 40 b. 34
c. 30 d. 21
(a) 40

Chloramphenicol prevents protein synthesis over

a. Prokaryoticribosomes b. Organelle ribosomes
c. Bothaandb d. 80 Sribosomes
(c) Bothaandb

Most abundant organelles of the cell are

b. Plastids
d. Microbodies

a. Mitochondria
c. Ribosomes

(c) Ribosomes

Golgi apparatus was first seen by

a. George b. Golgi

c. Cajal d. Robinson and Brown
(b) Golgi

Who studied Golgi apparatus for the first time

a. Golgi b. George

c. Cajal d. Koltzoff

(a) Golgi

Golgi was able to differentiate Golgi apparatus
through

a. Phase contrast microscopy

b. Metallic impregnation technique
c. Electron microscopy

d. Special redox dye

(b) Metallic impregnation technique

Golgi studied Golgi apparatus in
a. Nerve cells of dog and fish

b. Goblet cells of dog’s stomach

c. Nerve cells of barn owl and cat

d. Goblet cells of barn owl and cat

(c) Nerve cells of barn owl and cat

Metallic stain used by Golgi was
a. Lead acetate
b. Osmium chloride and silver salts



c. Phosphotungstate
d. Palladium

Ans. (b) Osmium chloride and silver salts

527. Golgi apparatus was first seen under electron

microscope by

a. Novikoff

b. Dalton and Felix

c. Rhodin

d. De Robertis and Franchi

Ans. (b) Dalton and Felix

528. A cell organelle with a definite polarity is

b. Mitochondrion
d. Chloroplast

a. Ribosome
c. Golgiapparatus

Ans. (¢) Golgiapparatus

529. Golgi apparatus is made of

b. Tubules and vesicles
d. All the above

a. Cisternae
c. Golgian vacuoles

Ans. (d) All the above

530. Onwhich side of golgi apparatus are the membranes

thin

a. Concave distal side

b. Concave proximal side
c. Convexdistal side

d. Convex proximal side

Ans. (d) Convex proximal side

531. Golgian vacuoles develop from

a. Tubules

b. Convex proximal cisterna
c. Concave distal cisterna

d. Transition vesicles

Ans. (¢) Concave distal cisterna

532. Golgi apparatus receives biochemicals with the

help of transition vesicles formed by
a. ER

b. Plasmalemma

c. Lysosomes

d. Nuclear blebs

Ans. (a) ER

533.Number of cisternae present in Golgi apparatus of
an animal cell is

a. 4-8 b. 8-13
c. 13-20 d. 20-30
Ans. (a) 4-8

534.

Ans.

535.

Ans.

536.

Ans.

537.

Ans.

538.

Ans.

539.

Ans.

540.

Ans.

541.

Ans.

542.

Ans
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Space between adjacent cisternae of Golgi
apparatus is

a. 15A b.30A

c. 80-100 A d. 100-300 A

(d) 100-300 A

Inter-cisternal space is occupied by

a. Cytosol b. Cementing materials
c. Fibrils d. All the above

(d) All the above

Which one is the function of Golgi apparatus

a. Cell plate formation

b. Matrix formation of connective tissue
c. Secretion of tears

d. All the above

(d) All the above

Golgi apparatus is concerned with

b. Secretion
d. RNA synthesis

a. Excretion
c. ATP synthesis

(a) Excretion

Golgi complexis not found in

b. RBCs
d. All the above

a. Nerve cells
c. Germ cells

(b) RBCs

Golgi apparatus is found in

a. Cryptogams only
c. Prokaryotic cells

b. Phanerogams only
d. Eukaryotic cells

(d) Eukaryotic cells

Cell organelle specialized in forming acrosome
part of sperm is

b. Centriole
d. Golgi apparatus

a. Mitochondrion
c. Peroxisome

(d) Golgi apparatus

Amongst plants, Golgi apparatus is absent in

a. Sieve tube cells

b. Sperms of bryophytes

c. Sperms of pteridophytes
d. All the above

(d) All the above

Membrane flow occurs in

b. ER
d. Contractile vacuoles

a. Golgi apparatus
c. Karyotheca

. (a) Golgi apparatus
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543.

Ans.

544.

Ans.

545.

Ans.

546.

Ans.

547.

Ans.

548.

Ans.

549.

Ans.

550.

Ans.
551.

Ans
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cells are called

a. Golgisomes
c. Lipochondria

b. Dictyosomes
d. Cisternae

(b) Dictyosomes

Dictyosomes are unicisternal in

a. Fungi b. Protistans
c. Algae d. Bryophytes
(a) Fungi

saliva, tears and sweat

a. RER

b. SER

c. Golgiapparatus
d. Bothband ¢

(c) Golgiapparatus

Golgi apparatus takes part in synthesis of

a. Carbohydrates
c. Hormones

b. Glycoproteins
d. All the above

(d) All the above

Lysosomes were first seen and named by
a. DeDuve b. Palade

c. Novikoff d. Robertson
(@) DeDuve

Lysosomes originated from

a. Plasmalemma
c. Botheaandb

(b) Golgi apparatus

b. Golgi apparatus
d. RER

Main function of lysosomes is

a. Secretion

b. Respiration

c. Extracellular digestion
d. Intracellular digestion

(d) Intracellular digestion

Lysosomes are

a. All alike
c. Of four types

b. Of three types
d. Of two types

(c) Of four types

De Duve discovered lysosomes from

a. Orchid root cells b. Ratliver cells
c. Ratkidney cells d. Leaf cells

. (b) Ratliver cells

Isolated units of Golgi apparatus found in plant

Which cell organelle is involved in formation of

552.

Ans

5588

Ans

554.

Ans

555.

Ans

556.

Ans.

5578

Ans.

558.

Ans.

559.

Ans.
560.

Lysosomes are absent in animal cells

b. Plasma cells
d. Muscle cells

a. Erythrocytes
c. Nerve cells

. (a) Erythrocytes
pH of lysosome interior is
a. 10-12 b. 8-10
c. 5-7 d. 4-5
-(d) 4-5

The three types of plastids were named by

a. Meyer
c. Hanstein

.(b) Schimper

b. Schimper
d. Pyrenoids

Autoplasts of Meyer are

a. Leucoplasts
c. Chloroplasts

.(c) Chloroplasts

b. Proplastids
d. Bothaandb

Structural elements of chloroplasts are

a. Plastoglobuli

b. Photosynthetic pigments
c. Thylakoids

d. Quantosomes

(c) Thylakoids

Thylakoids of chloroplasts are also called

b. Fret membranes
d. Grana

a. Lamellae
c. Loculi

(a) Lamellae

a. In matrix

b. Grana

c. Membranes of thylakoids

d. Loculi and fret channels of thylakoids

(c) Membranes of thylakoids

Grana are present in

a. Mitochondria
c. Golgibodies

(b) Chloroplasts

b. Chloroplasts
d. Ribosomes

Grana are

a. Protein storing plastids

b. Coloured plastids

c. Stacks of thylakoids

d. Individual thylakoids present in stroma

Ans.(c) Stacksof thylakoids

In a chloroplasts. The photosynthetic pigments occur



561. Number of grana present in a chloroplastis
a. 10-20 b. 20-30
c. 3040 d. 40-60

Ans. (d) 40-60

562. Number of thylakoids present in a granum is
a. 10-100 b. 5-10
c. 100-200 d. 200-500

Ans. (a) 10-100

563. Particles of thylakoid membranes involved in

ATP synthesis are called

a. Quantosomes
c. Photosystems

Ans. (b) CF,~CF,

b. CF,—CF,;
d. Pyrenoids

564. Structure associated with chloroplast of green
algae is
a. Pyrenoid b. Stigma

c. Bothaandb
Ans. (c) Bothaandb

d. Endoplasmicreticulum

565.Plastids which provide bright colour to the flowers
and fruits are

a. Chloroplasts
c. Chromoplasts

b. Leucoplasts
d. Proplastids

Ans. (¢) Chromoplasts

566. Peroxisomes and glyoxisomes are
a. Energy transforming organelles
b. Membrane-less organelles

c. Macrobodies

d. Microbodies

Ans. (d) Microbodies

567. Which one is a microbody

a. Sphaerosome
c. Peroxisome

b. Lysosome
d. All the above

Ans. (c¢) Peroxisome

568. Organelle covered by a single membrane is

b. Peroxisomes
d. All the above

a. Sphareosomes
c. Glyoxisomes

Ans. (d) All the above

569. Microbody present only in plants is

b. Peroxisomes
d. Bothband ¢

a. Sphareosomes
c. Glyoxisomes

Ans. (c) Glyoxisomes

570.

Ans.

571.

Ans.

S0

Ans.

5188

Ans.

574.

Ans.

575.

Ans.

576.

Ans.

5775

Ans.

578.

Ans
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Microbodies resemble mitochondria in
a. Using oxygen

b. Producing reducing power

c. Having catalase

d. Formation of ATP

(a) Using oxygen

Microbodies differ from mitochondria in

b. Absence of DNA
d. All the above

a. Single membrane
c. Direct oxidation

(d) All the above

New spherosomes develop from

b. ER
d. Prospherosomes

a. Old sphaerosomes
c. Golgiapparatus

(b) ER

Spherosomes are involved in

a. Utilization of alcohol

b. Storage of fat

c. Synthesis and storage of fat

d. Synthesis and storage of carbohydrates

(c) Synthesis and storage of fat

Scientist credited with discovery of spherosome is
a. Rhodin b. Perner

c. Koltzokk d. Claude

(b) Perner

An organelle reported to have lysosomal activity
in plants is

a. Sphaerosome
c. Peroxisome

b. Glyoxisome
d. All the above

(a) Sphaerosome

A cell organelle called uricosome is

a. Lysosome
c. Peroxisome

b. Sphaerosome
d. Glyoxysome

(c) Peroxisome

Microbodies possess

b. Oxidases
d. All the above

a. Hydrolases
c. Isomerases

(b) Oxidases

Peroxisome was discovered by
b. Rhodin
c. De Roertis and Franchi d. Beevers

.(a) De Duve

a. De Duve
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579. Cell organelle having enzyme uricase or urate
oxidase is

a. Lysosome
c. Peroxisomes

b. Glyoxisome
d. Sphaerosome

Ans.(c) Peroxisomes

580. Major function of peroxisomes is oxidation of

a. Excess purine
c. Alcohol and drugs

Ans. (d) All the above

b. Surplus amino acids
d. All the above

581. Glyoxisomes occur in

a. Leaf cells
c. Roots

Ans. (b) Fatty seeds

b. Fatty seeds
d. Meristematic cells

582. Glyoxisomes are useful in
a. Converting sugars to fats
b. Converting fats tosugars

c. Deamination and converting amino acids to fatty
acids

d. Amination and changing fatty acids to amino
acids

Ans. (b) Converting fats to sugars

583. The term cytoskeleton was given by
a. Koltsov b. Rhodin
c. Menke d. Park

Ans. (a) Koltsov

584. The term microtubule was coined by

a. De Robertis and Franchi b. Mayer
c. Palade d. Slautterback

Ans. (d) Slautterback

585. A microtubule has a diameter of
a. 100 A b. 150 A
c. 250 A d. 100 nm

Ans. (c) 250 A

586. A microtubule is made of

a. Protofilaments b. Microfilaments
¢. Microfibrils d. Elementary fibrils

Ans. (a) Protofilaments

587. Number of protofilaments in a microtubule is
a. 10 b. 13
c. 16 d. 18

Ans. (b) 13

588.

Ans

589.

Ans

590.

Ans

S,

Ans

5923

Ans

593.

Ans

594.

Ans

595.

Ans.
596.

Ans

Microtubules are formed of a protein called
a. Tubulin b. Actin
c. Flagellin d. Myosin

. (@) Tubulin

Microtubules are present in

b. Viruses
d. Mycoplasma

a. Bacteria
c. Eukaryotic cells

. (c) Eukaryotic cells

Protein tubulin occurs in microtubules as

b. Homodimers
d. Heteropolymers

a. Monomers
c. Heterodimers

.(c) Heterodimers
Microtubule assembly is inhibited by
a. GTP b. Ca?*
c. Mg d. Colchicine

. (d) Colchicine

Microtubule assembly is promoted by

b. GTIP
d. All the above

a. Calmodulin
c. Ca? and Mg*

.(d) Alltheabove

Microfilaments were discovered by

a. Slautterback

b. Palevizetal

c. Altman

d. Ledbetter and Porter

.(b) Palevizetal
Diameter of a microfilament is
a. 7nm b. 10nm
c. 15nm d. 25nm
.(@ 7nm

Microfilaments are required for

a. Movement of flagella and cilia
b. Cell polarity

c. Sol-gel changes

d. All the above

(c) Sol-gel changes
Cell polarity is determined by

a. Intermediate filaments
b. Microtubules

c. Protofilaments

d. Centrioles

. (b) Microtubules
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597. Cytoskeleton components that determine 605. The centriole pair occurs in a complex called
orientation of cellulose microfibrils are

a. Centrosome b. Centromere
a. Microfilaments c. Kinetochore d. Basal plate
b. Microtubules Ans. (a) Centrosome
c. Intermediate filaments
d. Basal bodies 606. The two centrioles of a pair occur
Ans. (b) Microtubules a. Parallel to each other

b. Atright angles to each other
598. Which one provides supportto microvilli, membrane

sty il peerabnodte c. Atan angle other than 90

d. End toend
Ans. (b) Atright angles to each other

a. Microfilaments
b. Desmin and vimentin filaments

¢. Microtubules 607. Each centriole has on its periphery MTOCsS called
d. ER
o a. Spokes
Ans. (a) Microfilaments b. Pericentriolar thickenings

c. Massules
d. Bothaandb

Ans. (c) Massules

599. The contractile constituent of cytoskeleton is
a. Microtubules
b. Intermediate filaments

¢. Microfilaments 608. Centrosome was discovered by

d. Microfibrils a. Boveri b. Porter

Ans. (c) Microfilaments c. Thompson d. Schimper

600. The diameter of intermediate filament is Ans. (a) Boveri

a. 1nm b. 5nm 609. Cell organelle having a cartwheel constitution is
c. 7-8nm d. 10nm a. Centriole and basal body b. Microtubule
Ans. (d) 10nm c. Microfilament d. Basal plate
601. Tonofibrils are Ans. (a) Centriole and basal body
a. Intermediate filaments 610. The pattern of organization in centrioles is
b. Microfilaments a. 94+2 b. 9+3
c¢. Cross-linked microtubules c.9+0 d.9+1
d. Bothaandb Ans.(c) 9+0

Ans. (a) Intermediate filaments
611. In ultrastructure blepharoplasts resemble

602. In nerve fibres, intermediate filaments form a. Centrioles b. Flagella
a. Neurotubules b. Neurofilaments c. Cilia d. None of the above
c. Neurofibrils d. Dendrites Ans. (a) Centrioles

Ans. (c) Neurofibrils
612. Subfibres of cilia and flagella are made of

603. In muscle cells, intermediate filaments produce a. Tubulin b. Elastin
a. Z-line b. M-line c. Myosin d. Actin
c. H-line d. Bothaandb Ans. (a) Tubulin

Ans. (d) Bothaandb
613. Pattern of organization of eukaryotic cilia and

604. Centrioles are found flagella is
a. Singly b. Pairs a. 9+0 b.9+1
c. Triplets d. Quadruplets c. 9+2 d.9+3

Ans. (b) Pairs Ans.(c) 9+2
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614. Bacterial flagellum is made of
a. Flagellin
b. Actin
c. Elastin
d. Myosin
Ans. (a) Flagellin
615. Number of microtubules present in a centriole is
a. 20 b. 25
c9 d. 18
Ans.(d) 9
616. Number of microtubules found in cilium or
flagellum is
a. 11 b. 13
c. 18 d. 20
Ans. (d) 20
617. Doublet fibrils of a cilium or flagellum are tilted
at an angle of
a. 5° b. 10°
c. 15° d. 20°
Ans. (b) 10°
618. Triplet fibrils of a centriole are tilted at an angle of
a. 40° b. 30°
c. 20° d. 10°
Ans.(a) 40°
619. Which microtubule or subfibre of the triplet
disappears while passing through basal plate
a. C b. A
c. B d. None of the above
Ans. (a) C
620. Number of dynein arms

a. Four attached to subfibre B
b. Two attached to subfibre B

c. Twoattached tosubfibre A
d. Four attached to subfibre A

Ans.(c) Two attached tosubfibre A

621.

Cilium or flagellum is structurally bilateral due to
presence of

a. Central sheath
c. Doublebridge

b. Singlet fibrils
d. Bothband c

Ans.(d) Bothbandc

622.

Thylakoid are found in the plastids of

a. Bacteria
c. Higher plants

b. Bluegreenalgae
d. All of these

Ans.(c) Higherplants

623.

The most abundant protein in the plant world is
foundin

a. Roothair

b. Mitochondria
c. Chloroplasts
d. Viruses

Ans.(c) Chloroplasts

624.

Ribosomes are attached to endoplasmic reticulum
through

a. Ribophorins

b. rRNA

c. tRNA

d. Hydrophobic interaction

Ans.(a) Ribophorins

625.

The release of lysosmal enzymes fakes pace under
critical levels of

a. Ag++’ Zn++, Mg++
b. Ag++/ Zn**, Zg++
c¢. Hg**, Mn**, Cu*™*
d. Hg++, Cu”, Ag++

Ans.(d) Hg**, Cu**, Ag**
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CHECK YOUR GRASP

1. The stage at which cytokinesis begins in plant cell
is
a. Anaphase
b. Telophase
c. Gyphase
d. Interphase

2. The stage at which cleavage or cytokinesis begins in
animal cellsis
a. Anaphase
b. Telophase
c. Gyphase
d. Interphase

3. Meiosisis studied in smears of

a. Developing anthers
b. Testes

c. Bothaandb

d. Axillary buds

4. Chromosome syndesis or bivalent formation
occurs in
a. Leptotene
b. Zygotene
c. Pachytene
d. Diplotene

5. Separation of chromosome daughters takes place at

a. Telophase
b. Metaphase
c. Anaphase
d. Prophase

6. Amitosis was discovered by Remak in

a. 1841 b. 1855
c. 1880 d. 1905

7. Mitosis is usually studied in smears or sections of

a. Roottips

b. Stem tips

c. Floralbuds
d. Alltheabove

8. Mitosis takes placein

10.

11.

122,

13.

14.

a. All types of cells except those involved in gamete
formation

b. Gonads

c. Axillary buds situated near the apical bud

d. Cells of mature leaf

. Homologous chromosomes separate during

a. Prophasel
b. Prophase Il
c. Metaphasel
d. Anaphasel

Bouquetstage occurs during

a. Leptotene
b. Zygotene
c. Pachytene
d. Diplotene

Large plantcells are

a. Xylemvessel cells

b. Parenchyma cells

c. Sievetube cells

d. Sclerenchyma fibres

Study of the cell structure under microscope is

a. Cytology

b. Cellbiology

c. Cytochemistry
d. Microanatomy

Study of cellsin all aspects is

a. Cytotaxonomy
b. Cytology

c. Cellbiology
d. Cytochemistry

Schleiden and Schwann proposed cell theory in

a. 1836-37
b. 1838-39
c. 1901-02
d. 1938-39

In case of less than 80% score, go through brief review and glance once again from chapter

Key: 1-a 2-a 3-¢c 4b 5c 6-b 7-a 8a 9-d 10-a 11-d 12-a 13-c 14-b



Ans.

Ans.

Ans.

Ans.

5.

Molecular Biology

. A palindrome is asequence of nucleotidesin DNA

that

a. Has local symmetry and may serve as recognition
site for various protein

b. Isastructural gene

c. Is part of the introns of eukaryotic genes

d. Is highly reiterated

(a) Haslocal symmetry and may serve as recognition
site for various protein

. A polypeptide having 15 amino acid residues can

form any of the

a. 15 amino acid sequences
b. 15% amino acid sequences
¢. 20% amino acid sequences
d. None of these

(c) 20" amino acid sequences

. A transition mutation

a. Occurs when a purine is substituted from a
pyrimidine of vice-versa
. Result from insertion of one or two bases in to the
DNA chain
Always a missense mutation
. Results from the substitution of one purine for

another or of one pyrimidine for another

(d) Results from the substitution of one purine for
another or of one pyrimidine for another

. Acetylcholine receptor is

b. Na* channel
d. Non of the above

a. CI channel
c. Ca*? channel

(b) Na* channel

ADAR is an enzyme which plays asignificantrolein

a. RNA editing in prokaryotes
b. RNA editing in eukaryotes
c. 5 capping

d. Chromatin remodelling

Ans. (b) RNA editing in eukaryotes

Ans.

Ans.

Ans.

Ans.

10.

Ans.

11.

42

. Addition of mannose-6-phosphate to a protein

results in its location in

b. Ribosome
d. Nuclei

a. Lysosome
c. Golgibody

(a) Lysosome

. Agar-Agar is the polymer of

b. Glucose
d. Xylose

a. Galactose
c. Fructose

(a) Galactose

. Alcohol is used as disinfectant because it can

destroy the surrounding bacteria by breaking

a. Hydrogen bonds of bacterial protein

b. Ionic bonds of bacterial protein

c. Hydrophobic and disulphide bonds of bacterial
protein

d. None of these

(b) Ionic bonds of bacterial protein

. Alfalfa is used as biofertilizer due to presence of

a. Sinorhizobium
b. Rhizobium

c. Mesorhizobium
d. Azorhizobium

(@) Sinorhizobium

All the amino acids are specified by more than one
codon except

a. Phenylalanine and tyrosine
b. Tryptophan and serine

c. Methionine and tryptophan
d. Alanine and tyrosine

(c) Methionine and tryptophan

Amino acid sequence for a protein is known, we
can estimate the sequence of mRNA coding that
protein

a. Precisely
b. Can’t be predicted



Ans.

122,

Ans.

13.

Ans.

14.

Ans.

15.

Ans.

16.

Ans

17.

Ans

c. Precisely to certain extent if codon frequency is
known
d. Data not sufficient

(c) Precisely to certain extent if codon frequency is
known

Amino acids are translocated by intestinal epithelial
cells by

a. K*/amino acid co-transporters

b. Na*/amino acid co-transporters

c. H*/amino acid co-transporters

d. Amino acid / glucose anti porters

(b) Na*/amino acid co-transporters

Among closely lying cells signal are communicated
by

a. Hormones

b. Gap junction

c. Neurotransmitters

d. Cell membrane protein

(b) Gap junction

Among the following enzymes which is not
involved in DNA replication process?

a. RNA polymerase
c. Ligase

b. DNA polymerase
d. Helicase

(a) RNA polymerase

Among the following which mutagen induces
formation of thymidine dimmers in DNA?

a. Nitrous oxide

b. Ethylmethyl sulphate
c. UVlight

d. Ethidium bromide

(c) UVlight

An operon is inducible means

a. The operon is for catabolic process

b. The operon is for anabolic process

c. There is another operator in the system
d. None of these

. (@) The operon is for catabolic process

V.Ramakrishnan shared noble prize for chemistry
in the year 2009 for describing the detailed
structure of

a. 50s ribosomal subunit
b. 40s ribosomal subunit
¢. 30s ribosomal subunit
d. None of these

. (c¢) 30s ribosomal subunit

18.

Ans.

19.

Ans.

20.

Ans.

21.

Ans.

22,

Ans.

23.

Ans.

24.

Ans.

25,

Ans
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Bacterial DNA polymerase-I can cause nick
translation. This property of the enzyme is due to
a. 3’ = 5’exonuclease activity
b. 3" = 5’polymerase activity
c. 5" — 3’exonuclease activity
d. 5" — 3’ polymerase activity

(c) 5" —> 3’exonuclease activity

Biologically not common but sometimes playing
regulatory role in gene expression, the DNA is

a. B-form b. Z-form
c. E-form d. All of the above
(b) Z-form

CAAT box and GC box are component of the
promoter of

a. Halo bacteria b. Arabidopsis

c. Mycoplasma d. Bacteria
(b) Arabidopsis

Ca*?binding proteins is

a. Tropomysosin b. Myosin

c. Actin d. Troponin

(d) Troponin

Calmodulin, a calcium binding protein, is found
in living organisms except

a. Prokaryotes
c. Plant

b. Eukaryotes
d. Animals

(a) Prokaryotes

Which of the following sequences lists the
compounds in order of increasing molecular
weight?

a. DNA,NAD, ADP, ATP

b. Alanine, ATP, NAD, DNA

c. Alanine, ATP, DNA, NAD

d. ATP, alanine, DNA, NAD

(b) Alanine, ATP, NAD, DNA

cAMP is directly involved in regulation of

a. GTP b. ATP
c. PFK d. Protein kinase A

(d) Protein kinase A

The scientist who first synthesized DNA in vitro
was

a. A garrod b. J. D watson

c. AKornberg d. Ochoa

.(c) AKornberg
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26. CD 4 receptors are specialized for

a. MHCI
c. CDK

b. MHCII
d. IgG

Ans. (b) MHCII

27. The nitrogen bases in DNA are

a. AUGC b. UTGC
c. ATGC d. ATUC
Ans. () ATGC
28. RNA is absentin
a. Ribosome b. Chromosom
c. Plasma membrane d. Cytoplasm
Ans. (c) Plasma membrane
29. Cdk-1/cyclin A complex acts at
a. Sto G2 transition
b. G1 to S transition point
c. Restriction point
d. G2 to M transition point
Ans. (a) Sto G2 transition
30. Cdk-1, with cyclin B acts at
a. G1 phase b. G2 phase
c. Sphase d. M phase
Ans. (d) M phase
31. Cdk4/cyclin D complex acts on
a. Cell cycle progression through S phase
b. Restriction point
c. G1/S transition
d. G2/M transition
Ans. (b) Restriction point
32. B-1,4 glycosidic linkage is not found in
a. Sucrose b. Fructose
c. Maltose d. Lacose
Ans. (a) Sucrose
33. Who was awarded Nobel Prize for the synthesis of
RNA in 1959?
a. AKfrnberg b. H. Khorna
c. S.Ochoa d. Nirenbirg
Ans. (a) S.Ochoa
34. Cellular proteins are degraded by
a. Cyclosomes b. Chymotripsins
c. Proteasomes d. Lysosomes
Ans. (c) Proteasomes

35.

Ans

36.

Ans

37.

Ans

38.

Ans.

898

Ans.

40.

Ans.

41.

Ans

Feulgen reaction is a specific test for establishing
the presence of
a. RNA b. DNA
c. Sugar d. Protein
.(b) DNA

Change from purine to pyrimidine or pyrimidine
to purine is

b. Transition
d. Frame-shift

a. Transversion
c. Deletion

. (a) Transversion

Codon degeneracy has evolutionary significance
because

a. It reduces the number of t-RNA performing
translation for 61 codon

b. It creates new reading frame and promotes
formation of new polypeptides

c. It maintains wild-type eliminating lethal affects of
mutation

d. None of these

. (o) Itmaintains wild-type eliminating lethal affects
of mutation

Colchicines treated cells are arrested in

b. G1 phase
d. G2 phase

a. Meta phase
c. Sphase

(a) Meta phase

Cooperativity effect in proteins is the result of
a. Tertiary structure of protein

b. Quaternary structure of protein

c. Secondary structure of protein

d. All of these

(b) Quaternary structure of protein

COP Il vesicle transport proteins froms

a. Rough ER to the golgi

b. From the cis-golgi to the rough ER

c. From plasma membrance and the trans golgi to
late endosomes

d. From trans golgi to the lysosome

(a) Rough ER to the golgi

Copy error mutation is an example of

a. Transition
b. Transversion
c. Frameshift
d. Deletion

. (a) Transition



42.

Ans.

43.

Ans.

44.

Ans.

45,

Ans.

46.

Ans.

47.

Ans.

48.

Ans.

49.

Ans

Copy error mutation is thought to occur due to

b. Nitous oxide
d. DNA methylation

a. Tautomeric shift
c. UVrays

(a) Tautomeric shift

Crossing over is not found in

b. Maize
d. Female drosophila

a. Male drosophila
c. Evening primrose

(a) Male drosophila

Crossing over occurs at

a. Pachytene
c. Zygotene

b. Diplotene
d. Leptotene

(a) Pachytene

C-value paradox is

a.
b.

Percentage of junk DNA in eukaryotes

Lack of correlation between genome size and
complexity

c. Correct correlation between genome size and
complexity

None of these

d.

(b) Lack of correlation between genome size and
complexity

C-value refers to

a. Diploid level of DNA
b. Haploid level of DNA
c. Triploidy

d. Polyploidy

(b) Haploid level of DNA

Cytoplasmic polyadenylationis a critical aspect of
gene expression in

a. Early embryo cell death
b. Programmed cell death
c. Aging

d. Cancer cells

(a) Early embryo cell death

Cytoplasmic streaming is associated with

b. Microfilaments
d. None of these

a. Microtubules
c. Intermediate filament

(b) Microfilaments

Cytoplasmic streaming results in to mobility of
substances and organelles itinvolves interaction of

a. Tubulin, myosin
c. Tubulin kinesin

b. Actin, myosin
d. Actin, kinesin

. (b) Actin, myosin

50
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. Degeneracy of the genetic code denotes the
existence of

a. Multiple amino acids for a single codon

b. Codons that include one or more of the unusual
bases

c. Codons consisting of only two bases

d. Multiple amino acids for a single amino acid

Ans. (d) Multiple amino acids for a single amino acid

51. You haveisolated a motile, gram positive cell with

Ans.

5P

Ans.
53.

Ans.

54.

Ans.

55.

Ans.

56.

Ans

no visible nucleus, you can assume this cell has

b. Mitochondria
d. ER

a. Ribosome
c. Golgi complex

(a) Ribosome

Dicentric bridges are formed in

a. Reciprocal translocation
b. Pericentric inversion

c. Paracentric inversion

d. Terminal deletion

(c) Paracentric inversion

X-rays induce mutagenic changes mainly by

a. Chromosomal breakage
b. Transition

c. Frame shifting

d. Transversion

(a) Chromosomal breakage

Disulfide bond formation in proteins takes place in

a. Smooth ER b. Rough ER
c. Golgi complex d. Cytosol

(b) Rough ER

Disulphide bond can not be formed within cytosol
because

a. It’s environment is highly reducing due to
presence of free radicals

b. It’s environment is highly reducing due to
presence of glutathione

c. Itlacks PDI

d. None of these

(b) It'senvironmentis highly reducing due to presence
of glutathione
DNA fossils are

a. Very primitive sequence of DNA

b. DNA is extracted from fossils

¢. Inactive transposons in human genome
d. All of the above

. (d) All of the above
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57

Ans.

58.

Ans.

598

Ans.

60.

Ans.

61.

Ans.

62.

Ans.

63.

Ans

Objective Biotechnology

DNA gyrase is inhibited by

a. Puromycin b. Streptomycin
c. Nalidixic acid d. All of the above

(c¢) Nalidixic acid

Wobble hypothesis explains that

a. Asingle t-RNA molecule can recognize more than
one codon

b. In mitochondria genetic code does not follow
universal rule of genetic code

c. In some viruses and bacteria genetic code is
overlapping

d. None of these

(a) A single tRNA molecule can recognize more
than one codon

DNA in the form of minicircles and maxicircles is
found in

a. Chloroplast genome

b. Mitochondrial genome

c. Apicoplast

d. Kinetoplast

(d) Kinetoplast

DNA replication occurs in 5’-3” direction because

a. It enhances fidelity of the DNA

b. Itis thermodynamically favourable
c. DNA isright handed

d. It reduces mismatch pairing

(b) Itis thermodynamically favourable

Double stranded DNA break can be repaired by

a. Homologous recombination
b. Mismatch repair

c. Nucleotide excision repair
d. Direct repair

(a) Homologous recombination

Down’s syndrome results in mental retardation in
human. This condition is characterized by having

a. Monosomy for 21

b. Trisomy for chromosome X
c. Trisomy for chromosome Y
d. Trisomy for chromosome 21

(d) Trisomy for chromosome 21

Drug detoxification occur in

a. Rough ER b. Smooth ER
c. Glyoxysomes d. Peroxisomes

. (b) Smooth ER

64.

Ans.

65.

Ans.

66.

Ans.

67.

Ans.

68.

Ans.

69.

Ans.

70.

Ans.

71.

Ans

During cell division the transition of the cell into
the S phase is controlled by?

a. CDK2 b. CDK1

c. CDK25 d. CDK4/CDK5

(a) CDK2

During chromatid separation microtubules
attached to the

a. Telomere

b. Kinetochore

c. Centromere

d. Secondary construction

(c) Centromere

During DNA replication in eukaryotes RNA
primers are removed by

a. RNase H

b. DNA Polymerase I

c. DNA polymerase I

d. RNA polymerase I

(a) RNase H

During DNA synthesis frame reading form
a. 3-5 b. 5°-3’

c. Bothsimultaneously  d. None of these
(a) 3"-5

During glycosylation of protein the oligosaccharide
groups are modified by

a. Glycosidase

b. Glycosyl transferases

c. Proteases

d. None of these

(b) Glycosyl transferases

During meiosis centromere divides at

a. Metaphase b. Anaphase

c. Teleophase d. Anaphase II

(d) AnaphaseII

During meiosis cohesion protein is broken down at
a. Anaphasel b. Anaphase II

c. metaphase d. interkinesis

(b) AnaphaseII

During photoreactivation reaction DNA photolyase
utilizes

a. Red light b. Bluelight

c. Farred light d. Green light

. (b) Bluelight
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N

Ans

73.

Ans.

74.

Ans.

7

Ans.

76.

Ans.
77.

Ans.
78.

Ans.
79.

Ans

. During RNA processing splicing is mediated by
a. mRNA b. rRNA
c. tRNA d. SnRNA

.(d) Sn RNA

During termination of protein synthesis the release
factor RF3 recognizes

a. UAA b. UAG
c. BothUAA and UAG d. UGA and UAA
(d) UAG

During transcription holoenzyme RNA polymerase
binds to a DNA sequence and the DNA assumes a
saddle-like structure at that point. What is the
sequence called?

a. AAAT box
c. TATA box

(c) TATA box

b. CAAT box
d. GGTT box

During transcription RNA polymerase binds to the

a. Promoter
c. Structural

b. Operator
d. Regulator

(a) Promoter

During translation proof reading activity is
performed by

a. Ribosome

b. Aminoacyl transfer RNA synthetase

c. Translation factor

d. Peptidyl transferase

(b) Aminoacyl transfer RNA synthetase

Enhancers of eukaryotic gene may have a special
form of DNA called

a. A-DNA b. C-DNA
c. B-DNA d. Z-DNA
(d) Z-DNA

Epinephrine plays its role in glycogenolysis by
a. Activating glycogen synthase

b. Activating phophorylase kinase

c. Inactivating adenylyl cyclase

d. None of these

(b) Activating phophorylase kinase

Epinephrine promotes glycogenolysis there by

a. Hydrolysizing cAMP

b. Synthesizing cAMP

c. Inactivating G-protein

d. Inactivating Adenylyl cyclase

. (b) Synthesizing cAMP

80.

Ans.

81.

Ans.

82.

Ans.

83.

Ans.

84.

Ans.

85.

Ans.

86.

Ans
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Eukaryotic chromosomes are transcriptionally
most active during

a. Prophase
c. Anaphase

b. Metaphase
d. Interphase

(d) Interphase

Eukaryotic organisms lack

a. DNA photolyase
c. AP endonuclease

(a) DNA photolyase

b. DNA glycosylase
d. Excinucleases

Eukaryotic transcription

a. Is independent of the presence of consensus
sequences upstream from the start of transcription.

b. May involve a promoter located with in the region
transcribed rather than upstream

c. Is affected by enhancer sequences only if they are
adjacent to the promoter

d. None of the these

(b) May involve a promoter located with in the
region transcribed rather than upstream

With which of the following base compositions
will the Tm be highestin a double-stranded DNA
molecule?

a. 30% thymine
c. 5% thymine

(c) 5% thymine

b. 25% guanine
d. 5% guanine

Full expression of the lac operon requires
a. Allolactose

b. Lactose

c. Lactose and cAMP

d. Allolactose and cAMP

(b) Lactose

G band corresponds to large regions of the human
genome that have unusually

a. Low A + T content
b. High A + T content
c. Low G + C content
d. High G + C content

(d) High G + C content

Which statement is not true for DNA transcription?
a. Template strand is used as coding strand

b. Transcription is in 5’3" direction

c. Template strand and mRNA have complementary
d. None of these

. (a) Template strand is used as coding strand
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87.

Ans

88.

Ans.

89.

Ans.

90.

Ans.

91.

Ans.

P8

Ans.

988

Ans.

94.

Ans
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Genetic code is not degenerate for
a. Leucine b. Isoleucine
c. Glycine d. Cysteine

.(c) Glycine

Guide RNA are involved in

a. Cutting event of m-RNA

b. RNA editing

c. End modification of hn-RNA
d. Splicing

(b) RNA editing

Histones are replaced by protamines in

b. Muscle cell
d. Sperm cell

a. Nerve cell
c. Heart cell

(d) Sperm cell

Holiday junction are formed during

a. DNA replication

b. DNA repair

¢. Chromosomal aberration
d. Recombination

(d) Recombination

Holiday structure is used to explain
a. Site specific recombination

b. Homologous recombination

c. Gene transfer

d. Nonhomologous recombination

(b) Homologous recombination

Holocentric chromosomes are found in
a. Man b. Luzula

c. Chimpanzee d. Birds

(b) Luzula

Hopanoids are sterol like-molecules which are
found in the plasma membrane of

a. Fungi

b. Mycoplasma

c. Archaebacteria

d. Certain bacteria and cyanobacteria

(d) Certain bacteria and cyanobacteria

How many kinetochores are present in a human
cell?
a. 41 b. 42
c. 45 d. 46
-(d) 46

U5

Ans.

96.

Ans.

97.

Ans.

98.

Ans.

99.

Ans.

100.

Ans.

101.

Ans.

How many linkage groups are found in human cell?

a. 21 b. 22
c. 23 d. 24
(d) 24

If there is 20% cytosine in DNA, what is the
percentage of adenine?

a. 35% b. 30%
c. 45% d. 40%
(b) 30%

If there is mutation in cdk/cyclin, the key molecule
in regulating the cell cycle, then

a. There would be uncontrolled growth

b. Cells will arrest to G, phase

c. Thelevel of cdki/cyclins will enhance

d. Cell will not pass to S phase

(a) There would be uncontrolled growth

Inanintactcell the DNA double helixis righthanded
because

a. The bases are asymmetric

b. It consists of D-ribose only

c. Itis more stable than left handed
d. None of these

(b) It consists of D-ribose only

In B-DNA the distance between two base pair is

a. 0.24 b. 0.35
c. 0.34 d. 0.45
(c) 0.34

In cell-cycle centrioles replicate in

a. G1- phase b. G2-phase
¢. S-phase d. M-phase
(c) S-phase

In cell cycle which of the following is usually not
a check point?

a. G2-check point
c¢. S-check point

(c) S-check point

b. G1-check point
d. None of these

102.In comparison to their natural environments

Ans.

biologically active cell are

a. Hypotonic

b. Hypertonic

c. Isotonic

d. Vary from condition to condition

(b) Hypertonic



103. In culture, cells may reversibly be arrested in the
mitotic phase by treatment with

a. Radiation
c. Colchicine

Ans. (¢) Colchicine

b. Gentamycin
d. Mitomycin-C

104. In DNA the histone responsible for higher order
chromatin structure is

a. H1 b. H2A
c. H2B d. H3 AND H4
Ans. (a) H1

105. In humans t-RNA genes are transcribed by
a. RNA Polymerase I
b. RNA polymerase II
c. RNA polymerase I1I
d. All of the above

Ans. () RNA polymerase II1

106. In lac operon CAP binding site is found
a. Upstream the RNA binding site
b. Downstream the RNA binding site
c. Any where the RNA binding site
d. Structural gene

Ans. (a) Upstream the RNA binding site

107. Which sequence is the best target for damage by

UV radiation
a. AGGCAAA b. AGGCAAA
c. GUAAAAU d. CTTTTGA

Ans.(d) CTTTTGA

108. Kinetochore is a proteinaceous structure of
centromere. It is important for cell division
because

a. It causes spindle formation

b. Microtubules attach to kinetochore during

separation of chromosome
c. It causes spindle formation
d. None of these

Ans. (b) Microtubules attach to kinetochore during

separation of chromosome

109. Lactose operon is both negatively and positively
regulated, this means that lactose is used

a. Along with glucose

b. After glucose has been used
c. Preferentially

d. All of these

Ans. (b) After glucose has been used
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110. DNA replication under going in an E. coli cell
resulted into two circular DNA interlocked with
each other; this may be due to a defective gene
encoding
a. Primase
b. DNA topoisomerase I
c. DNA topoisomerase II
d. DNA polymerase

Ans. (c) DNA topoisomerase II

111. In prokaryotes, the lagging primers are removed
by
a. 3’ to 5" exonuclease
c. DNA polymerase I

b. DNA ligase
d. DNA polymerase III

Ans. (¢) DNA polymerase I

112. The essential initiator protein at the E. Coli origin

of replication is
a. DnaA b. DnaB
c. DnaC d. DnaE

Ans. (a) DnaA

113. Which phase would a cell enter if it was starved of
mitogens before the R point?

a. G1 b. S
c. G2 d. GO
Ans. (d) GO

114. Prokaryotic plasmids can replicate in yeast cells if
they contain a cloned yeast

a. ORC b. CDK
c. ARS d. RNA
Ans. (c) ARS

115.Which enzyme removes the RNA primer and fills in
deoxyribonucleotides in prokaryotic replicons?
a. DNA polymerase I1I
b. DNA polymerase II
c. DNA polymerase I
d. None of these

Ans. (¢) DNA polymerase I

116. The bacterial enzyme that changes positively
supercoiled DNA into negatively supercoiled
DNA is
a. DNA helicase
b. DNA gyrase
c. Single stranded binding protein
d. Polymerase

Ans. (b) DNA gyrase
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117.

Ans.

118.

Ans.

119.

Ans.

120.

Ans.

Characteristic unique in DNA is

a. Denaturation and renaturation
b. Polymer complex

c. Replication

d. resistance to temperature change

(c) Replication

Isotopes used for proving semiconservative
replication of DNA are

a. N and P!
c. N*and C™

(b) N and N'®

b. N*and N
d. C*and P3!

T4 DNA ligase

a. Requires ATP

b. Joins double-stranded DNA fragments with an
adjacent 3’-phosphate and 5’-OH

c. Requires NADH

d. Joins single-stranded DNA

(a) Requires ATP

Which of the following is used in rolling circle
DNA replication but not in normal cellular DNA
replication?

a. Endonuclease

b. Exonuclease

c. Primase

d. DNA ligase

(a) Endonuclease

121. In eukaryotes, RNA primers are removed after
replication by
a. DNA Pol a b. DNA Pol &
c. helicase d. FENI
(d) FENI

Ans.

122. Which of the following DNA Pol has proofreading

Ans.

123.

Ans.

property in animal cells?

a. DNA Pol a
b. DNAPol 6
c. DNA Pol B
d. All

(b) DNA Pol §

Choose the incorrect statement

a. Mitochondrial DNA replicates by D-loop formation

b. Rolling circle replication is also known as o
replication

c. DNA Pol Iis made up of single polypeptide

d. DNA Pol III has ability of nick translation

(d) DNA Pol IIT has ability of nick translation

124.

Ans.

125.

Ans.

126.

Ans.

127.

Ans.

128.

Ans.

129.

Ans.

130.

Ans

Which of the following DNA Pol in eukaryote has
5" — 3’ exonuclease activity?

a. DNAPola b. DNA Pol B

c. DNA Pol s d. None

(d) None

Mitochondrial DNA is replicated from

a. A single ori site bidirectionally
b. Two different ori sites in the same direction

c. Two different ori sites at different times in opposite
directions

d. Many sites bidirectionally, like nuclear chromosomes

(c) Two different ori sites at different times in
opposite directions

Chloroplast DNA is replicated from

a. A single ori site bidirectionally
b. Two different ori sites in the same direction

c. Two different ori sites simultaneously and in
opposite directions

d. Manysites bidirectionally, likenuclear chromosomes

(c) Two different ori sites simultaneously and in
opposite directions

In eukaryotes, the lagging strand DNA is
synthesized by DNA polymerase

a. B b. 8
c. vy d.e

(d) e

C-bands are deeply stained chromosomal regions
which represents the

a. Euchromatin

b. Constitutive heterochromatin

c. Cytosine dominant regions of chromosome
d. Metaphase chromosome

(b) Constitutive heterochromatin

Bar bodies are found in

a. Interphase of male cells
b. Interphase of female cells
c. Prophase of female cells
d. Prophase of male cells

(b) Interphase of female cells

According to operon concept,in the tryptophan
operon the regulator gene forms

a. Inducer
c. Aporepressor

b. Repressor
d. General inhibitor

.(c) Aporepressor



131.

Ans.

132.

Ans.

133.

Ans.
134.

Ans.
135.

Ans.

Similarities between RNA polymerase and DNA
Polymerase activities in prokaryotes include

a. Requirement for a template

b. Requirement for a primer

c. Synthesis of the nascent chainin 5" to 3" direction
d. 3’ to 5" exonuclease editing function

(c) Synthesis of the nascent chainin 5’ to 3’ direction

Post-transcriptional modification of prokaryotes
RNA molecule includes

a. Cleavage of primary transcripts to form functional
molecules of rRNA and tRNA

b. Addition of a CCA 3’terminus to all tRNA
molecules

c. Methylation of bases using S-adenosylmethionine
as methyl donor

d. Addition of a cap structure to the 5" end of mRNA

(c) Methylation of bases using S-adenosylmethionine
as methyl donor

A trans esterification reaction

a. Requiresno ATP

b. Breaks one bond and forms one bond

c. Involves the nucleophilic attack of an OH group on
the sugar phosphate backbone

d. All of the above

(d) All of the above

Polycistronic messengers RNA are common in

a. Homo sapiens

b. Saccharomyces cerevisiae
c. E.coli

d. Dinosaur

(c) E.coli

Which one of the following does notrequire a primer?

a. RNA dependent DNA Polymerase
b. DNA dependent RNA Polymerase
c. DNA dependent DNA Polymerase
d. Tag DNA Polymerase

(b) RNA dependent DNA Polymerase

136. The poly A end of eukaryoticmRNAs originates from

a. Addition of a pre- synthesized poly A tail to the 3’
end of the primary transcript

b. Transcription of corresponding poly T region of
the respective gene

c. Sequential addition of A residues at the 3" end of
the primary transcript

d. None

137.

Ans.

138.

Ans.

139.

Ans.

140.

Ans.

141.

Ans.

142.

Ans.

143.

Ans. (¢) Sequential addition of A residuesatthe3’endof Ans

the primary transcript
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Regulation of polygenictranscriptionin prokaryotes
can be at the level of

a. RNA polymerase holoenzyme recruitment to
DNA

b. Enhancer binding protein induced isomerisation
of the binary complex

c. Repressor and antitermination of transcription
d. All of the above

(d) All of the above

Catabolite activator protein acts as

a. Aporepressor
c. Apoinducer

b. Co-repressor
d. Inducer

(c) Apoinducer

Term ‘Homeobox” was used by

a. Walter Gehring
c. Goldberg

(a) Walter Gehring

b. Dr. Hogness
d. Lewis

Genes whose products are constantly needed for
cellular activity are called

a. Regulator genes b. Structural genes

c. House keeping genes ~ d. Smart genes

(c) House keeping genes

Bacteria utilize glucose first, even if other sugars
are present, through a mechanism called

a. Operon repression b. Enzyme repression

c. Catabolite repression  d. Glucose utilization

(c) Catabolite repression

If there is a deletion mutation in the “operator” for
lac operon, expression of lac structural gene will
be

a. Permanently stop

b. Constitutively expressed

c. Notexpressed

d. Resistant to catabolite expression

(b) Constitutively expressed

‘Zinc fingers’ are important in cellular function

because they are

a. Catalytic site of many metabolic enzymes

b. Structural motifs in many DNA binding proteins

c. Structures with high redox potential

d. Characteristic of palindromic stretches of unique
DNA sequence

(b) Structural motifs in many DNA binding
proteins
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144.

Ans.

145.

Ans.

146.

Ans.

147.

Ans.

148.

Ans.

149.

Ans.

150.

Ans
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Lac operon is negatively regulated by repressor
encoded by lacl gene. A mutation in lacl that
prevents binding of lactose will result in

a. Constitutive phenotype that will be recessive

b. Uninducible phenotype that will be dominant

c. Constitutive phenotype that will be dominant

d. Uninducible phenotype that will be recessive

(c) Constitutive phenotype that will be dominant

Amplification of genes involves

a. Removal of histones from DNA to allow

transcription of gene
b. Multiple duplications of gene via replication

c. Multiplication of extra chromosomal elements

only
d. Invertebrate genomes only

(b) Multiple duplications of gene via replication

Full expression of lac operon requires

a. Lactose and cAMP
c. Lactose

(b) Allolactose and cAMP

d. Allolactose

Which one of the following partial diploids will
express B-galactosidase constitutively?

a. F'lacO¢lacZ* / lacO*lacZ*
b. F'lacO~lacZ* / lacI*lacZ*
c. F'lacO*lacZ* / lacl"lacZ*

d. F'lacO¢lacZ™/ lacO*lacZ*

(b) F"lacO~1lacZ* /lacI*lacZ*

Synthesis of B-galactosidase will be constitutive in
a strain with the genotype

a. I"Z+Y* b. I"Z*Y*
c I'ZY* d. I"Z* Y-
(b) I"Z* Y*

House keeping genes are

a. Inducible genes

b. Expressed in tumour cells
c. Expressed in all cells

d. Do not express at all

(c) Expressed in all cells

What is the chemical basis of gene imprinting?

a. Phosphorylation of DNA
b. Methylation of DNA

c. Oxidation of DNA

d. Glycosylation of DNA

. (b) Methylation of DNA

b. Allolactose and cAMP

151.

Ans.

152.

Ans.

153.

Ans.

154.

Ans.

155.

Ans.

156.

Ans.

157.

Ans.
158.

Theleaderregion (trpL) of tryptophan biosynthetic
operon codes for RNA that may function as the
operon’s

a. Corepressor
c. Aporepressor

(d) Attenuator

b. Holorepressor
d. Attenuator

Chaperone proteins help in

a. Protein folding and assembly
b. Protein stability

c. Both

d. None

(c) Both

How many energy bonds are expended in
formation of a peptide bond?

a. 2 b. 4
c. 3 d. 6
(b) 4

‘Kozak’ is associated with

a. Transcription

b. DNA replication
c. DNA repair

d. Translation

(b) DNA replication

GUG codes for valine in both prokaryotes and
eukaryotes but when GUG is initiation codon,
this codes

b. Valine
d. None

a. Methionine
c. tryptophan

(a) Methionine

An antibiotic which inhibits in both prokaryotes
and eukaryotes is

a. Chloromycetin
c. Actinomycin-D

b. Puromycin
d. Tetracycline

(b) Puromycin
Atinitiation the two ribosomal subunits combine
with mRNA and

a. Threonine charged tRNA
b. Methionine charged tRNA
c. Serine charged tRNA

d. Proline charged tRNA

(b) Methionine charged tRNA

Chloramphenicol inhibits

a. Cell wall synthesis in bacteria
b. Protein synthesis on 70S ribosome



Ans.

159.

Ans.

160.

Ans.

161.

Ans.

162.

Ans.

163.

Ans.

164.

Ans.

c. Protein synthesis on 80S ribosome
d. DNA replication

(b) Protein synthesis on 70S ribosome
An antibiotic that resembles 3’ end of a charged
tRNA molecule is

a. Streptomycin
c. Tetracycline

b. Penicillin
d. Puromycin

(d) Puromycin

Which of the following is involved in the majority
of ATP dependent cytosolic degradation of
proteins in eukaryotes?

a. Cathepsins
c. Lysosome

b. Calpains
d. 26S proteosome

(d) 26S proteosome

Peptide bond synthesis not requires an input of
energy during

a. Amino acid activation

b. Formation of 70S initiation complex of prokaryotes

c. Binding of aminoacyl-tRNA to the A site on
ribosome

d. Movement of peptidyl-tRNA to the P site and
associated movement of mRNA

(d) Movement of peptidyl-tRNA to the P site and
associated movement of mRNA

What is the E-site of ribosome?

a. Site where eukaryotic mRNA is processed

b. Exciting term made up by your instructor

c. Site where tRNA exits the prokaryotic ribosome
d. Site where endonuclease EcoRI restricts ribosome

(c) Site where tRNA exits the prokaryotic ribosome

E. coli release factorl recognizes which codons?
a. UAA only

b. UGA

c. UAA and UGA

d. UAG and UAA

(d) UAG and UAA

All aminoglycoside antibiotics inhibits Protein
synthesis by

a. Binding to small ribosomal subunit

b. Binding to large ribosomal subunit

c. Binding to both small and large ribosomal
subunit

d. Inactivating eEF-2

(a) Binding to small ribosomal subunit

165.

Ans.

166.

Ans.

167.

Ans.

168.

Ans.

169.

Ans.

170.

Ans.

171.
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In the Protein synthesis, tRNA carrying initiating
amino acid enters in which site of ribosome

a. Asite b. Psite
c. Anticodon d. Recognition site
(b) Psite

In the case of humans lysine is an essential acid
because

a. Itis presentin all proteins

b. Itis highly nutritive

c. Itisnotformedinbody and had tobesupplied thediet
d. Itis required for protein synthesis

(c) Itis not formed in body and had to be supplied
the diet

To clone a gene corresponding to a protein with
partial amino acid sequence. Met-Trp-Cys Trp (no.
of codons for Met = 1, Cys = 2, trp = 1), no. of
oligonucleotides that need to be designed to
screen cDNA library is

a. 2
c. 5

(a) 2

b. 4
d. 8

Three of the four eukaryoticrRNAs are synthesized
from a single transcription unit consisting of
the rDNA. Which one of the following does not
belong to this group?

a. 5.85 b. 55
c. 185 d. 28S
(b) 58

Synthesis of peptide bond is catalyzed by

b. P site of ribosome
d. tRNA

a. A site of ribosome
c. 23SrRNA

(c) 23SrRNA

How many polypeptide chains can be formed

simultaneously by a given ribosome?

a. One

b. Upto 30

c. Variable, depending on the length of mRNA

d. Variable, depending both on the length or mRNA
and temperature

(@) One

A single nucleotide pair is inserted near the 5" end
of a protein coding DNA sequence. The most
likely effect will be production of

a. A protein with a single altered amino acid

b. Aproteinwithanalmostcompletely altered sequence
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Ans.

172.

Ans.

173.

Ans.

174.

Ans.

175.

Ans.
176.

Ans.
177.

Ans
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c. A greatly truncated protein
d. No protein

(b) A protein with an almost completely altered
sequence

A recessive mutation is one which

a. Isnotexpressed

b. Is expressed only when in heterozygous

c. Is expressed only when in homozygous or
hemizygous

d. Is eliminated by natural selection

(c) Is expressed only when in homozygous or
hemizygous

Thymine dimer formation during replication of
DNA is caused due to

a. Gamma radiation
c. X-rays
(b) UV radiation

b. UV radiation
d. IR radiation

The fluctuation tests done by Luria and Delbruck
showed that

a. Antibiotics induce the development of resistance
in bacteria

Growth of bacteria fluctuates based on the conc. of
antibiotics in the media

The conc. of antibiotics fluctuates in response to
the no. of bacteria in a sample

Phage T1 not induce mutation in wild type E. coli

b.

d.

(d) Phage T1 not induce mutation in wild type
E. coli

Ames test is used to determine if a chemical

a. Increases rate at which bacterial cell divides
b. Decreases no. of cells in a culture
c. Induces mutations in cell’s DNA
d. Decreases ability of a cell to photosynthesize

(c) Induces mutations in cell’s DNA
Sites where mutations occur at rates higher than
normal are known as

a. Suppressor sites
c. Mutator sites

b. Hotspots
d. Cistrons

(c) Mutator sites

In bacteria, which enzyme binds single stranded
DNA, denatures double stranded DNA and
matches single stranded DNA with complementary
denatured DNA?

a. RecA b. RecBCD
c. UvrABC d. UvrD
.(a) RecA

178. High energy phosphate bond of adenosine

Ans

diphosphate is used in biological systems by

a. Hydrolysis of terminal phosphate to give adenosine

monophosphate

Coupling of hydrolysis of terminal phosphate to

another reaction via common intermediates

Transfer of terminal phosphate to glucose or

similar substrates

. Transfer of terminal phosphate of one adenosine
diphosphate to another ADP to form adenosine
triphosphate

b.

. (b) Coupling of hydrolysis of terminal phosphate to
another reaction via common intermediates

179.1f the ratio (A+G)/ (T+C) in one strand of DNA is 0.7,

Ans.

180.

Ans.

181.

Ans.

182.

Ans.

183.

Ans.

184.

Ans

what is the same ratio in the complementary
strand?

a. 0.7 b. 1.43
c. 0.35 d. None
(b) 1.43

Rate of renaturation of DNA is proportional to the

a. Square of the conc. of single strand
b. conc. of single strand

c. Square of length of single strand
d. None

(a) Square of the conc. of single strand

Molecular weight of mRNA that codes for a
protein of molecular weight 75000 is closest to

a. 6000 b. 60000
c. 600000 d. 600

(c) 600000

Mammalian kinases are able to convert which of
the following nucleosides to nucleotides?

b. Inosine
d. Guanine

a. Adenosine
c. glutamine

(a) Adenosine

End product of purine catabolism in normal
humans is

a. Urea b. Uricacid

c. Creatinine d. Xanthine

(b) Uric acid

Ring structure of glucose is due to formation of
hemiacetal and ring formation between

a. C;and C; b. C;and C,
¢. Cyand G, d. C;and C,

.(@) C;and C;



185.

Ans.
186.

Ans.
187.

Ans.

188.

Ans.

189.

Ans.

190.

Ans.
191.

Ans.
192.

Ans.
193.

Ans

The scientists involved in discovery of DNA as
chemical basis of heredity were

a. Hershey and Chase

b. Griffith and Avery

c. Avery, Mac Leod and Mc Carty
d. Watson and Crick

(c) Avery, Mac Leod and Mc Carty

One turn of DNA possesses

a. One base pair
c. Fivebase pairs

b. Two base pairs
d. Tenbase pairs

(d) Ten base pairs

Number of codons in the genetic triplet code is
a. 4 b. 16

c. 32 d. 64

(d) 64

Initiation codons for protein synthesis are

a. UUU and GGG b. AAU and UAA
c. AUG and GUA d. GUG and AUG

(d) GUG and AUG

Termination codons for protein synthesis are

a. AUU, AUGand GUU b. UGA,UAA and UAG
c. UAU,UAGand UUA d. AAA,UUU and UGA

(b) UGA, UAA and UAG

The two antiparallel strands of DNA are

a. Equidistant and run in 5" — 3’ direction

b. Equidistantand runin5”— 3"and 3’ — 5’ directions
c. Unequal and run in opposite directions

d. Unequal and diverge from each other

(b) Equidistantand runin5'—3’and 3’ — 5’ directions
The process of multiplication of DNA from DNA
is known as

a. Replication
c. Transcription

b. Duplication
d. Translation

(a) Replication
Formation of RNA over the template of DNA is

b. Translation
d. Transcription

a. Replication

c. Transversion
(d) Transcription
The area of unwinding and separation of DNA
strands during replication is called

a. Origin b. Initiation point
c. Primer d. Replication fork

.(a) Origin
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Topoisomerase is involved in

a. Producing RNA primer

b. Joining of DNA segments
c. Producing nick in DNA

d. Separation of DNA strands

(c) Producing nick in DNA

In DNA replication, the primer is

a. Small deoxyribonucleotide polymer

b. Small ribonucleotide polymer

c. Helix destabilising protein

d. Enzyme taking part in joining nucleotides to their
complementary template bases

(b) Small ribonucleotide polymer

DNA strand is synthesized in the direction
a. 5" -3 b. 3" =5

c l'>4 d. 6 -1

(@) 5" >3

Okazaki segments are

a. Small segments of RNA
b. Small peptides
c. Small DNA segments
d. Small DNA segments formed over DNA template
running in 3" — 5" direction
(d) Small DNA segments formed over DNA
template running in 3" — 5" direction

Okazaki fragments are joined by

b. DNA ligase
d. DNA polymerase I

a. DNA polymerase I1I
c. DNA polymerase II

(b) DNA ligase

Okazaki fragments give rise to

b. Sense strand
d. Leading strand

a. Master strand
c. Lagging strand

(c) Lagging strand

Leading strand during DNA replication is formed

a. Continuously
c. First

b. In short segments
d. Ahead of replication

(a) Continuously

In proof reading during DNA replication

a. Wrong nucleotides are inserted

b. Wrong nucleotides are taken out

c. Wrongnucleotides are removes and correct ones
inserted

d. Mutations are prevented

. (c) Wrongnucleotides are removes and correct ones
inserted
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Nonsense codons take partin

a. Helping protein synthesis

b. Termination gene message for polypeptide synthesis
c. Initiating gene message for polypeptide synthesis

d. Synthesis of nonprotein amino acids

synthesis

The two strand of DNA are

a. Similar and parallel

b. Similar but antiparallel

c. Complementary and antiparallel
d. Complementary and parallel

(c) Complementary and antiparallel

Transcription involves

a. Protein synthesis over ribosomes

b. Removal of worn out organelles by lysosomes
c. Synthesis of RNA over DNA

d. Synthesis of DNA over DNA

(c) Synthesis of RNA over DNA

DNA acts as a template for synthesis of
a. DNA b. RNA
c. Bothaandb d. Protein

(c) Bothaandb

Code transfer for synthesis of polypeptide involves

a. DNA, tRNA, rRNA and mRNA
b. mRNA, tRNA, rRNA and DNA
c. tRNA, DNA, mRNA and rRNA
d. DNA, mRNA, tRNA and amino acids

(d) DNA, mRNA, tRNA and amino acids

In polypeptide synthesis, amino acids are brought
over ribosome-mRNA complex by

a. rRNA b. tRNA

c. DNA d. Nucleotides

(b) tRNA

tRNA attaches amino acid at its

a. 3’-end b. 5’-end

¢. Anticodon d. Loop

(a) 3’-end

Blender experiment to prove DNA as genetic

material was performed by
a. Hershey and Chase b. Messelson and Stahl
c. Watson and Crick

. (@) Hershey and Chase

(b) Termination gene message for polypeptide

d. Rosalind and Franklin
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The strain of Neurospora, which grows on minimal
medium is called

a. Autotroph
c. Auxotroph

(b) Prototroph

b. Prototroph
d. Heterotroph

For their contribution in biochemical genetics the
scientists who received Nobel prize in 1958 were

b. Beadle and Lederberg
d. Zinder and Morgan

a. Beadle and Tatum
c. Lederberg and Zinder

(a) Beadle and Tatum

Genetic information is carried out by long chain
molecule made up of

a. Amino acids
c. Nucleotides

(c) Nucleotides

b. Enzymes
d. Histone proteins

One gene one enzyme hypothesis was proposed
by

a. Khorana and Nirenberg

b. Beadle and Tatum

c. Bateson and Punnet

d. Bridges

(b) Beadle and Tatum

A mutant strain of Neurospora which fails to grow
on a minimal medium unless supplemented with
anutrient is called

a. Auxotroph
c. Heterotroph

b. Autotroph
d. Prototroph

(a) Auxotroph

The terms triplet code and genetic code were
coined by

a. Watson and Crick
c. Gamow

b. Nirenberg
d. Conrat

(c) Gamow

Beadle and Tatum produced mutant strain of
Neurospora by

a. X-rays b. UV rays
c. Betarays d. Gamma rays
(a) X-rays

The technique of detecting and screening the
nutritional mutants in Neurospora crassa was
developed by

a. Mendel

¢. Bateson and Punnet

(d) Beadle and Tatum

b. Morgan
d. Beadle and Tatum
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A gene thattakes partin the synthesis of polypeptide
is

a. Structural gene b. Regulator gene
c. Operator gene d. Promoter gene

(a) Structural gene

Components of an operon are

a. Operator, promoter and regulator genes

b. Regulator, promoter, operator and structural
genes

c. Operator, regulator and structural genes

d. Regulator, promoter and structural genes

(b) Regulator, promoter, operator and structural
genes

Regulated unit of genetic material is termed as

a. Operon b. Regulator gene
c. Operator gene d. Okazaki segment
(a) Operon

A codon specifies the same amino acid in Brassica
and Homo because codons are

a. Nonoverlapping b. Commaless
¢. Universal d. Nonambiguous

(¢) Universal

In eukaryotes mRNA is synthesized with the aid of

a. RNA polymeraseIll ~ b. RNA polymerase I
c. RNA polymerase I d. Reverse transcriptase

(b) RNA polymerase II

A bacterium grown over medium having
radioactive **S incorporates radioactivity in

a. Carbohydrates b. Proteins
c. DNA d. RNA

(b) Proteins

GUG specifies amino acid valine. However, when
functioning as initiation codon it specifies

a. Methionine b. Valine
c. Lysine d. Isoleucine

(a) Methionine

New strand formation on a DNA template can be
initiated only by

a. DNA polymerase I

b. DNA polymerase III

c. RNA primer

d. DNA primer

.(c) RNA primer
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What is true about ori

a. Onein all organisms

b. Several in all organisms

c. Onein eukaryotes and several in prokaryotes
d. One in prokaryotes and several in eukaryotes

(d) One in prokaryotes and several in eukaryotes

DNA has alternate grooves

a. One major and one minor
b. Two major and one minor
¢. One major and two minor
d. Two major and two minor

(a) One major and one minor

Number of DNA coils of a nucleosome is
a. 2% b. 24

c. 1% d. 1%

(c) 1%

Energy for activation of amino acids during
protein synthesis comes from

a. ATP b. GTP
c. CTP d. UTP

(a) ATP

AUG initiation codon occurs over

a. 3’ end of mRNA b. 5" end of mRNA
c. Short arm of tRNA d. Long arm of tRNA

(b) 5 end of mRNA

Central dogma is not directly connected with
synthesis of

a. mRNA b. Polypeptide

c. Bothaandb d. Amino acids

(d) Amino acids

In Streptococcus pneumoniae

a. Virulent form is smooth

b. Virulent form is rough

¢. Nonvirulent form is capsulated
d. All forms are rough

(a) Virulent form is smooth

Codon is triplet of

a. Template strand of DNA

b. Non-template strand of DNA
c. mRNA

d. tRNA

. (b) Non-template strand of DNA
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Enzyme required during DNA replication is

b. DNA ligase
d. Sigma factor

a. DNA polymerase
c. Bothaandb

(c) Bothaandb

A codon is read in

b. 5 — 3’ direction
d. 6 - 3’ direction

a. 3 > 5  direction
c. 3> 6’ direction

(b) 5> 3’ direction

All nonsense codons have first base

a. Adenine b. Cytosine
c. Uracil d. Guanine
(c¢) Uracil

First triplet codon to be deciphered was
a. UUU b. AAA

c. CTA d. CCC

(a) UUU

Triplet pair deciphered by Khorana was

a. Serine and Threonine

b. Threonine and Histidine

c. Cysteine and Valine

d. Phenylalanine and Isoleucine

(c) Cysteine and Valine

The codon for anticodon 3’ UUUA -5 is
a. 5 AAAU-3’

b. 5 UAAA -3’

c. 33 UAAD-¥%

d. 3 AAAU-5

(a) 5" AAAU-3

Central dogma of modern genetics is
a. RNA - RNA — DNA — Protein
b. DNA — DNA — RNA — Protein

c. DNA — RNA — Protein

d. RNA - DNA — RNA — Protein
(b) DNA - DNA — RNA — Protein

Whatis true of Watson and Crick’s model of DNA.

Itis duplex with

a. 10 base pairs and 34 A distance for every turn

b. 10 base pairs and 3.4 A distance for each turn of
spiral

c. 20 base pairs and 34 A for each turn

d. None of the above

.(a) 10 base pairs and 34 A distance for every turn
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Protein cover of virus is

a. Capsid b. Virion

c. Viroid d. Mucopeptide
(a) Capsid

A gene is

a. Three letter code in DNA

b. Equivalent to chromosome

c. Part of chromosome producing a set of enzymes
(protein)

d. Part of chromosome producing only one enzymes
(protein)

(d) Part of chromosome producing only one enzymes

(protein)

tRNA recognizes ribosome by

a. T¥Cloop b. DHU loop
c. Anticodon d. AA-site

(a) T¥Cloop

tRNA recognizes amino acyl synthetase enzyme by
a. Anticodon b. DHU loop

c. T¥Cloop d. AA-site

(b) DHU loop

Amino acid binding site of tRNA is

a. 5 end b. Anticodon loop
c. DHU loop d. -CCA 3’-end
(d) -CCA 3’-end

Type of coiling in DNA is

a. Right handed b. Left handed

c. Zigzag
(a) Right handed

d. Opposite

Hereditary characteristics are passed on from
parent to the offspring mainly through

a. Enzymes

b. Genes

c. Mutants

d. Centrosomes

(b) Genes

The pneumococcus experiment proves that

a. RNA sometimes controls the production of DNA
and proteins

b. Bacteria under go binary fission

c. DNA is the genetic material

d. Bacteria do not reproduce sexually

. (c) DNA is the genetic material
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251.

The strongest evidence that DNA is the genetic
material comes from

a. The fact that chromosomes are made of DNA
b. Studies on the transformation of bacterial cells

c. The knowledge that DNA is present in the nucleus
d. The findings that DNA is present in the cytoplasm

(b) Studies on the transformation of bacterial cells

When DNA is transformed from a culture of
capsulated bacteria to a culture of non-capsulated
bacteria converting the latter into the former type,

the process is known as

a. Transcription b. Translocation
c. Transduction d. Transformation
Ans. (d) Transformation
252. A gene is made up of
a. DNA b. RNA
c. Either DNAorRNA  d. Amino acids
Ans. (c¢) Either DNA or RNA
253. Genes are chemically
a. Polynucleotides b. Histones
c. lipoproteins d. Hydrocarbons
Ans. (a) Polynucleotides
254.Which is entirely responsible for the transfer of
hereditary traits
a. DNA b. RNA
c. Chloroplast d. Aestivation
Ans. (a) DNA
255. A link between generations is provided precisely
by
a. Chromosomes b. Nucleic acids
c. Nucleus d. Cytoplasm

Ans. (b) Nucleic acids

256.

The first undoubted evidence about DNA being

the genetic material came from

a.

b.

d.

Transformation of rough-coated strain of
Diplococcus pneumonia into smooth coated strain

The establishment of DNA as the chief chemical
constituent of chromosomes

The establishment of DNA as a self-replicating
substance

Transduction of bacteria by action of bacteriophage

Ans. (a) Transformation of rough-coated strain of

Diplococcus pneumonia into smooth coated
strain
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Duplication of DNA is called

a. Replication
c. Transcription

b. Transduction
d. Translation

(a) Replication

The usual method of DNA replication is

a. Conservative
c. Non-conservative

b. Dispersive
d. Semi-conservative

(d) Semi-conservative

A DNA molecule in which both strands have
radioactive thymidine is allowed to duplicate in
an environment containing non-radioactive
thymidine. What will be the exactnumber of DNA
molecules that contain some radioactive thymidine
after 3 duplications?

a. One b. Two
c. Four d. Eight
(b) Two

A bacterium containing 100% N nitrogen bases is
allowed to replicate in a medium containing N4
bases. After one round of duplication, the result
would be

a. Allindividuals would be identical to parents

b. All individuals would be radioactive but the
percentage of radioactivity in DNA would be
50%

c. Only 50% individuals would be radioactive

d. All individuals would be similar to parents but
different among themselves

(b) All individuals would be similar to parents but
different among themselves

A bacterium E. coli with completely radioactive
DNA was allowed to replicate in anon-radioactive
medium for two generations. What % of the
bacteria should contain radioactive DNA

a. 100% b. 50%
c. 25% d. 12.5%
(b) 50%

Semi-conservative mode of replication of chro-
mosome was demonstrated by (or experimental
demonstration of the semi-conservative model of
DNA replication was given by)

a. Messelson and Stahl

b. Watson and Crick

c. Stahl and Urey

d. Bawden and Ririe

(a) Messelson and Stahl
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If one wants to obtain precise informationregarding
the exact time and location of synthesis of new
DNA, which of the following methods would be
most effective for such a study

a. Electron microscopy
b. Carbon dating

c. Isolating and extracting DNA after regular
intervals and estimating DNA amount

d. Using radioactive precursors of nucleic acids

(d) Usingradioactive precursors of nucleic acids

The experimental system used in studies of the
discovery of replication of DNA has been (or DNA
replication was conducted in)

a. Drosophila melanogaster
b. Pneumococcus
c. Escherichia coli
d. None of these

(c) Escherichia coli

Experiments using N (heavy nitrogen) to confirm
the semi-conservative replication of DNA were
carried out by

a. Messelson and Stahl
c. Beadle and Tatum

(a) Messelson and Stahl

b. Hershey and Chase
d. Watson and Crick

A DNA molecule of Escherichia coli is heavy (full
labeled with N*°) and is allowed to duplicate in a
medium containing N'%. After one generation, the
two daughter strands molecules

a. Have same density but do not resemble their
parent DNA

b. Havedifferent densities but resemble their parent DNA
c. Have different densities and also do not resemble
the parent DNA

Both the strands differ in density, but resemble

their parent DNA

(a) Have same density but do not resemble their
parent DNA

d.

Replication of DNA takes place with the help of
a. DNA polymerase b. Lyase
c. RNAase d. DNAase

(a) DNA polymerase

The following is needed during DNA replication

a. DNA polymerase and DNA ligase
b. RNA polymerase and translocase
c. DNA polymerase only

d. DNA ligase only

.(a) DNA polymerase and DNA ligase
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DNA polymerase is needed for
a. Replication of DNA b. Synthesis of DNA
c. Elongation of DNA d. All the above

(a) Replication of DNA

DNA polymerase is required for the synthesis of

a. DNA from DNA
b. DNA from RNA
c. DNA from nucleotides
d. DNA from nucleosides

(c) DNA from nucleotides
The enzyme DNA polymerase can add nucleotide
to the

a. 3’ carbon position
b. 5’ carbon position
c. Both 3”and 5’ carbon positions
d. 4’ carbon position

(a) 3’ carbon position

The enzyme(s) responsible for unwinding of DNA
helix during replication is/are

a. Helicases
c. DNA polymerase

b. Topisomerases
d. Primase

(a) Helicases

The enzyme topoisomerase is helpful in
a. Unwinding of DNA strand

b. Breaking of DNA strand

c¢. Proof reading of replicating DNA

d. Synthesis of primer

(a) Unwinding of DNA strand

The expected frequency of introduction of a wrong
base during DNA replication is

a. 1:100 b. 1:1000
c. 1:1 million d. 1:1 billion

(d) 1:1 billion

Ligase enzyme is used for

a. Denaturation of DNA

b. Splitting of DNA into small bits
c. Joining bits of DNA

d. Digestion of lipids

(c) Joining bits of DNA

The bits of DNA segments formed are joined with
each other by an enzyme

a. Polymerase b. Ligase
c. Lipase d. Kinase
.(b) Ligase
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Okazaki segments are

a. DNA segments capable of free replication

b. DNA segments formed during replication

c. Nucleotide segments formed during transcription

d. Segments of genes which undergo mutation and
recombination

(b) DNA segments formed during replication

DNA polymerase enzyme was discovered by

a. Konberg
c. Watson

b. Nirenberg
d. Crick

(a) Konberg

Synthesis of DNA takes place by

a. Transduction
c. Transformation

b. Transcription
d. Replication

(d) Replication

Replication of DNA in eukaryotes commences from

a. One end of the chromatid extending to the other end

b. Both ends of the chromatid simultaneously

c¢. The centromere to either of the ends of chromatids

d. Several sites along the DNA of the chromatid
simultaneously

(d) Several sites along the DNA of the chromatid
simultaneously

The modern concept of gene is that it is

a. A segment of DNA capable of crossing over
b. A functional unit of DNA

c. A segment of DNA

d. A segment of chromosome

(b) A functional unit of DNA

Eukaryotes differ from prokaryotes in the
mechanism of DNA replication due to

a. Different enzymes (instead of same enzyme) for
synthesis of lagging and leading strands

b. Discontinuous rather than semi-discontinuous
replication

c. Use of DNA primers rather than RNA primers

d. Unidirectional rather than bidirectional replication

(a) Differentenzymes (instead of same enzyme) for
synthesis of lagging and leading strands

These are special proteins which help to open up
DNA double helix in front of the replication fork.
These proteins are
a. DNA gyrase

c. DNaligase

(a) DNA gyrase

b. DNA polymerase I
d. DNA topoisomerase
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The nuclease enzyme which begins its attack from
a free end of a polynucleotide is

b. Kinase
d. Endonuclease

a. Exonuclease
c. Polymerase

(a) Exonuclease

One gene-one polypeptide hypothesis was pro-
posed by

a. Linus Pauling b. V.Ingram

c. Yanofsky d. Brenner

(c) Yanofsky

A functional unit of gene which specifies the
synthesis of one polypeptide is known as

a. Recon b. Clone

c. Codon d. Cistron

(d) Cistron

The smallest gene affected by mutation is

a. Exon b. Recon

c. Cistron d. Muton

(d) Muton

The smallest unit of DNA which is capable of
undergoing crossing over and recombination is
called

a. Recon b. Muton
c. Cistron d. Intron
(a) Recon

The terms cistron, recon and muton were proposed
by
a. W.Ingram

c. J. Lederberg
(d) S. Benzer

b. Bateson
d. S. Benzer

Gene is

a. A segment of DNA

b. A segment of DNA and histone

c. A segment of DNA, RNA and Histone
d. All of the above

(a) Asegmentof DNA

The idea that genes control the production of
enzyme was given by

a. EL Tatum

b. TH Morgan

c. AE Garrod

d. RS Kornberg

.(c) AE Garrod
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One gene one enzyme theory (hypothesis) was
proposed by

a. Beadle and Tatum
¢. Jacob and Monad

(a) Beadle and Tatum

b. Avery and McCarty
d. Luria and Delburck

Co-linearity between genes and polypeptides was
established by

a. Linus Pauling
c. Yanofsky

b. V.Ingram
d. Brenner

(c) Yanofsky

Garrod’s views on the relationship between genes
and enzymes can be best stated as

a. One mutant gene-one metabolic block concept
b. One gene-one enzyme hypothesis

c. One gene-one polypeptide hypothesis

d. One cistron-one polypeptide hypothesis

(a) One mutant gene-one metabolic block concept

Gene controls

a. Protein synthesis but not heredity

b. Protein synthesis and heredity

c. Heredity but not protein synthesis

d. Biochemical reaction of some enzymes

(b) Protein synthesis and heredity

Beadle and Tatum worked on genetics of Neurospora
which resulted in the development of anew science
called

a. Genetic engineering
c. Biotechnology

b. Biochemical genetics
d. Dendrochronology

(b) Biochemical genetics

The chief advantage of the linear arrangement of

the ascospores in Neurospora is that, in genetic

studies, it permits

a. Easy inference of the orientation of chromatids
during meiosis

b. Ready conservation of mutant phenotype

c. Accurate counting of spores

d. Easy collection of ascospores

(b) Ready conservation of mutant phenotype
In Neurospora, 8 ascospores are formed. These are
2a,4A, 2a...it shows that

a. First generation division

b. Second generation division
c. No crossing over

d. Some meiosis occurs

(b) Second generation division
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RNA and DNA were artificially synthesized in
vitro by

a. Ochoa and Nirenberg

b. Ochoa and Kornberg

c. Kornberg and Nirenberg

d. Nirenberg and Khorana

(b) Ochoa and Kornberg

Who suggested that an intermediate RNA
molecule would be needed to read the codons on
messenger RNA?

b. H.G. Khorana

d. Kornberg

a. M. Nirenberg
c. F.Crick

(c) F.Crick

The process of RNA synthesis on the DNA template
is

b. Translation
d. Transformation

a. Transduction
c. Transcription

(c) Transcription

Transcription is synthesis of

a. Protein b. mRNA
c. tRNA d. rRNA
(b) mRNA

Transcription is the process by which

a. RNA moleculeis synthesized on a DNA strand (or
template)

b. Two daughter strands of DNA are synthesized

¢. Amino acids are joined to form polypeptides

d. RNA molecule is synthesized within a ribosome

(a) RNA molecule is synthesized on a DNA strand
(or template)

Genetic code determines

a. Structural pattern of an organism

b. Sequence of amino acid in protein chain
c. Variation in offsprings

d. Constancy of morphological trait

(b) Sequence of amino acid in protein chain

Genetic code was discovered by

a. Nirenberg and Mathei b. Novick and Szilard
c. Kornberg d. Willkins

(a) Nirenberg and Mathei

Site of protein synthesis

b. Peroxisome
d. Splisosome

a. Lysosome
c. Ribosome

.(c) Ribosome
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Dr. Hargobind Khorana has been awarded Noble
Prize for research on

b. Hormones
d. Immunology

a. Oral contraceptives
c. Genetic code

(c) Genetic code

There are 64 codons in genetic code dictionary
because

a. There are 64 type of tRNAs found in the cell

b. There are 44 meaningless and 20 codons for amino

acids
c. There are 64 amino acids to be coded
d. Genetic code is triplet
(d) Genetic code s triplet

Genetic code was deciphered through chemical
synthesis of trinucleotides by

a. Watson and Crick b. Beadle and Tatum

c. Briggs and King d. M\W. Nirenberg

.(d) M.W. Nirenberg

Nirenberg synthesized a mRNA containing 34
poly-adenine (A-A-A-A-A-A...... ) and found a
polypeptide formed of 11 polylysine. It proved
that the genetic code for lysine is

b. A-A doublet

d. Many adenines

a. Lone adenine
c. A-A-Atriplet

() A-A-A triplet

Khorana and his colleagues synthesized an RNA
molecule with ripening sequence of UG N-bases
(UGUGUGUGUGUG). It produced a tetrapeptide
with altering sequence of cystien and valine. It
proves that codon for cysteine and valine is

a. UGG and GUU b. UUG and GGU
c. UGU and GUG d. GUG and UGU

(c) UGU and GUG

Dr. H.G. Khorana deciphered first the triplet
codon of

a. Serine and isoleucine

b. Phenylalanine and methionine
c. Threonine and histidine

d. Tyrosine and tryptophan

(a) Serine and isoleucine

5’-end of the tRNA always ends in the base

a. Adenine
c. Cytosine

b. Guanine
d. Thymine

. (b) Guanine

314.

Ans.

315.

Ans.

316.

Ans.

317.

Ans.

318.

Ans.
3109.

Ans.

320.

Ans.

321.

Ans

Molecular Biology 63

UGA in the yeast mitochondria codes for

a. Stop signal
c. Glutamine

(d) Aspartic acid

b. Tryptophan
d. Aspartic acid

The amount of which of these is least in a cell

a. mRNA

b. rRNA

c. tRNA

d. Nothing can be said definitely

(a) mRNA

The genetic code is

a. Universal

b. Nearly universal

c. Similar in the members of a genus
d. Different for every species

(b) Nearly universal

The minimum length of cistron in base pair which
synthesizes a polypeptide of 50 amino acids is

a. 50 bp b. 100 bp
c. 150bp d. 200bp
(c) 150 bp

Considering that we have four nucleotides A, G, C,
T, the number of base substitutions that can occur
in the amino acid codons are

a. 549 b. 535
c. 261 d. 264
(a) 549

In the DNA codons are ATG ATG ATG and a
cytosine base is inserted at the beginning, which
of the following will result

a. A non-sense mutation b. CATGATGATG
c. CATGATGATG d. CATG ATG ATG

(c) CAT GATGATG

Genetic code consists of

a. Adenine and guanine
c. Cytosine and uracil

(d) All

b. Guanine and cytosine
d. All

A single anticodon can recognize more than one
codon of mRNA. This phenomenon is termed as
a. Richmond and lang effect

b. Gene flow hypothesis

c. Wobble hypothesis

d. Template hypothesis

(c) Wobble hypothesis
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What becomes established from the Wobble
hypothesis?

a. Process of peptide chain elongation

b. Economy of the number of tRNA molecules
c. Process of peptide chain initiation

d. Process of chain termination

(b) Economy of the number of tRNA molecules

In a codon, wobbling is generally restricted to

a. First N base b. Second N base
c. Third N base d. Aromatic amino acids

(c) Third N base

DNA is the major source of genetic information
which is transmitted by transcription into RNA
molecules. These RNA molecules are responsible
to get this genetic information translated into
proteins and thus the central dogma of molecular
biology is

a. RNA - DNA — Proteins

b. DNA — RNA — Proteins

¢. RNA — Proteins

d. RNA — Proteins - DNA

(b) DNA — RNA — Proteins

Which of the following is called amber?

a. AUG b. UAA

c. UAG d. UGA

(c) UAG

Transcription is

a. Assembly of amino acids by mRNA in the form of

polypeptides
b.

c. Transfer of genetic information from DNA to
mRNA

Recognition of base sequence on mRNA

Recognition of amino acids by RNA synthesis

d.

(c) Transfer of genetic information from DNA to
mRNA

The genetic information if carried by long chain
molecules of

b. Amino acids
d. Chromosomes

a. Enzymes
¢. Nucleotides

(c) Nucleotides

tRNA is also known is

a. Microsomal RNA
c. Soluble RNA

. (c) Soluble RNA

b. Messenger RNA
d. Ribosomal RNA
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In order to enable a chemical to serve as a genetic
code, it is essential that the chemical should be

a. Able to duplicate itself

b. Able to form itself into long spiral molecules

c. A compound of pyrimidines and purines

d. Easily changed

(a) Able to duplicate itself

E. coli RNA polymerase consists of different
polypeptide chains which are

b. Three in number
d. Five in number

a. Two in number
c. Four in number

(d) Five in number

The core enzyme constituting the E. coli RNA
polymerase consists of following subunits

a. B,p,o,a b. B,p o
c. B,p,o,m d. B,o, 0,0

) BB, a0

How many different types of RNA polymerases
catalyse the synthesis of RNA in eukaryotes?

b. Three

d. Five

a. Two
c. Four

(b) Three

Formation of RNA from DNA is known as

b. Translocation
d. Transcription

a. Translation
c. Transformation

(d) Transcription
The process by which DNA of the nucleus passes
genetic information to mRNA is called

a. Transcription
¢. Translocation

b. Transportation
d. Translation

(a) Transcription

Transcription is

a. Synthesis of DNA on RNA

b. Synthesis of RNA on DNA

¢. Production of proteins on RNA
d. Replication of DNA

(b) Synthesis of RNA on DNA
Enzyme necessary for transcription is (or tran-
scription of DNA is aided by)

a. DNA polymerase
b. RNA polymerase
c. Endonuclease

d. RNAase

. (b) RNA polymerase
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A DNA strand is directly involved in the synthesis
of all the following except

a. tRNA molecule

b. mRNA molecule

c. Another DNA strand

d. Protein synthesis

(d) Protein synthesis

The mRNA is formed

a. In the nucleus

b. By free ribosomes

c. From the ribosomes on endoplasmic reticulum
d. From DNA in nucleus

(d) From DNA in nucleus

In which of the following places, messenger RNA
is found in a living cell?

a. Inside the endoplasmic reticulum

b. Inside the mitochondria

c. Inside the nucleus but outside the nucleolus
d. Inside the nucleolus

(c) Inside the nucleus but outside the nucleolus

Which site of a tRNA molecule hydrogen bonds to
amRNA molecule?

a. Anticodon

b. Codon

c. 5’-end of the tRNA molecule

d. 3’-end of a tRNA molecule

(d) Anticodon

The formation of polyribosomes from ribosomes
is done in the presence of

a. Na*ions
b. K*ions

c. Ca**ions
d. Mg**ions
(d) Mg**ions

In protein synthesis, the codon used as a start
signal is

a. AUG b. UGA

c. GUA d. UAG, UAA

(@) AUG

If the DNA strand has the nitrogenous base sequence
ATT GCC, the mRNA will have

a. ATTGCA b. ATCGCC
c. UGGACC d. UAA CGG

.(d) UAA CGG
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If the sequence of bases in DNA is ATTCGATG,
then the sequence of bases in its transcript will be

a. GUAGCUUA b. UAAGCUAC
c. CAUCGAAU d. AUUCGAUG

(b) UAAGCUAC

From a DNA template with the sequence
CTGATAGTC, the mRNA sequence formed would be

a. GUCTUTCG b. GACUAUCG
c. UACTATCU d. GAUTATUG

(b) GACUAUCG

The function of a non-sense codon is
a. Torelease polypeptide chain from tRNA
b. To form an unspecified amino acid

c. To terminate the message of gene controlled
protein synthesis

d. To convert a sense DNA into non-sense DNA

(c) To terminate the message of gene controlled
protein synthesis

Termination of chain growth in protein synthesis
is brought about by

a. UUG, UGC, UCA
b. UCG, GCG, ACC
c. UAA,UAG, UGA
d. UUG, UAG, UCG
(c) UAA,UAG, UGA

Each codon presenton mRNA and anticodon present
on tRNA is composed of

a. One N base only

b. A setof two N base

c. Asetof three N base

d. A setof threeoutof U,C, A, G

(d) A setofthreeoutofU,C, A, G

The process by which proteins are synthesized in
a cellis called

b. Translation
d. Transduction

a. Transcription
¢. Translocation

(b) Translation
During protein synthesis, amino acids recognize
and get attached to tRNA with the help of

a. Ribosomes; Sigma and Rho factors
b. mRNA

c. Amino acyl tRNA synthetase

d. tRNA

.(c) Amino acyl tRNA synthetase
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Khorana synthesized a biologically functional
tyrosine suppressor tRNA of E. coli in 1979 it
contained

a. 77 nucleotide p